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Child Development and Pedagogy
Directions: Answer the following questions (Q. Nos. 1 to 30) 
by selecting the correct/most appropriate options.
1.	 Creativity is thought to be related the concept of:

(1)	 crystallized intelligence
(2)	 convergent thinking
(3)	 divergent thinking
(4)	 fluid intelligence

2.	 The acceptable sound combinations of a language 
are specified in its __________ rules.
(1)	 grammatical	 (2)	 syntactic
(3)	 inflection	 (4)	 phonological

3.	 The position where thought patterns are influenced 
by language is called:
(1)	 linguistic determination
(2)	 cognitive bias
(3)	 sociolinguistic genesis
(4)	 cultural tendency

4.	 Ravi repairs appliances by testing hypothesis about 
the cause of the malfunction based on his experiences 
with the symptoms. He uses:
(1)	 algorithms	 (2)	 mental set
(3)	 heuristics	 (4)	 insight

5.	 Divya often divides the assigned job into small tasks 
which she can handle easily. She is using:
(1)	 secondary elaboration	(2)	 subgoal analysis
(3)	 functional fixedness	 (4)	 reductionism

6.	 “Society determines the roles of male and female.“ 
This statement articulates:
(1)	 gender as a hereditary endowment
(2)	 gender as an intuitive construct
(3)	 gender as a social construct
(4)	 gender as an inherent construct

7.	 Grading, coding, marking and credit accumulation 
systems are some of the examples of:
(1)	 symbolizing position of children in the class
(2)	 depicting the academic progress in report card
(3)	 scoring procedure of assessment of learners 

achievement
(4)	 evaluation procedure of answer sheets of the 

examination
8.	 Assessment of learners achievement helps the 

teachers to:
(1)	 evaluate the effectiveness of pedagogy
(2)	 make ability grouping of learners in the classrooms
(3)	 prepare activity log for teaching
(4)	 maintain the performance record of learners

9.	 Inclusive Education is based on the principle of:
(1)	 equity and equal opportunities
(2)	 social existence and globalization
(3)	 world brotherhood
(4)	 social equilibrium

10.	 The Rights of Persons with Disabilities Act has been 
enacted in the year:
(1)	 1995	 (2)	 1999
(3)	 2016	 (4)	 1992

11.	 Children with individual differences should be 
taught in a school having teachers:
(1)	 trained to use different pedagogy to meet their 

diverse learning needs
(2)	 trained to teach children with specific individual 

differences
(3)	 trained to make them homogeneous learners
(4)	 to teach in different sections of classrooms based 

on their individual differences
12.	 The Right of Children to Free and compulsory 

education act, 2009 ensures the rights of children 
with disabilities to free education from:
(1)	 3 years to 18 years	 (2)	 6 years to 14 years
(3)	 6 years to 22 years	 (4)	 6 years to 18 years

13.	 Providing teaching-learning materials in accessible 
formats to the diverse learners implies:
(1)	 Universal Code of Teaching Practices.
(2)	 Universal Humanistic Approach of Teaching.
(3)	 Universal Design of Learning
(4)	 Universal Inclusive Education Ethical Considerate.

14.	 __________ involves self awareness and control of 
cognitive abilities, e.g., planning, reviewing and 
revising, etc.
(1)	 Metacognition	 (2)	 Cognition
(3)	 Accommodation	 (4)	 Centration

15.	 When children think to interpret the received 
information according to their experiences, it is called:
(1)	 creative thinking	 (2)	 abstract thinking
(3)	 concrete thinking	 (4)	 reflective thinking

16.	 Teaching learners at varying levels of difficulty based 
on the ability of individual learner is known as:
(1)	 selective instruction
(2)	 precision teaching
(3)	 errorless instruction
(4)	 differentiated instruction

17.	 Maintenance is the specific stage of learning which 
is antecedent to __________ stage of learning.
(1)	 motivation	 (2)	 independent
(3)	 generalization	 (4)	 acquisition

18.	  Zajonc believes that cognition and emotion are:
(1)	 independent	 (2)	 interrelated
(3)	 integrated	 (4)	 interdependent

19.	 A teacher is teaching children by demonstration 
of a task to correct the performances of an already 
learned task. He is using __________ method of 
teaching.
(1)	 observation	 (2)	 correction
(3)	 modelling	 (4)	 imitation
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20.	 According to Mann and Janis, decision maker 

children analyze the problem, list the alternatives 
and weigh each option for its advantages and 
disadvantages. His behaviour reflects:
(1)	 vigilant	 (2)	 outgoing
(3)	 autocratic	 (4)	 surveillance

21.	 In __________ thinking, a child as a problem solver 
evaluates the truth or likelihood of statements.
(1)	 aesthetic	 (2)	 abstract
(3)	 logical	 (4)	 creative

22.	 The task in which the children get experience while 
enjoying themselves is known as:
(1)	 consumer type task	 (2)	 producer type task
(3)	 problem type task	 (4)	 drill and practice task

23.	 Multi sensory approach in teaching-learning is the 
simultaneous use of visual, auditory, tactile and 
_________ senses to enhance learning. 
(1)	 vestibular	 (2)	 perceptual
(3)	 observational	 (4)	 kinesthetic

24.	 The development from central part of the body 
towards peripheries or extremities denotes the:
(1)	 principles of decentralized development
(2)	 principles of proximodistal development
(3)	 principles of cascade development
(4)	 principles of radiated development

25.	 School is an institution of socialization of children 
where:
(1)	 school routines occupy the central position
(2)	 school activities occupy the central position
(3)	 schoolteachers occupy the central position
(4)	 schoolchildren occupy the central position

26.	 If you join a teacher fraternity and choose to dress 
like most of the others in your group, you are 
exhibiting:
(1)	 obedience	 (2)	 compliance
(3)	 conformity	 (4)	 group identity

27.	 The concept of object permanence is attained during 
Piaget’s __________ stage of development.
(1)	 preoperational
(2)	 concrete operational
(3)	 formal operational
(4)	 sensorimotor

28.	 Individualized Education Programme is planned 
from the perspective of:
(1)	 Child-centered Education Programme.
(2)	 Open School Education Programme.
(3)	 e-Learning Education Programme.
(4)	 Special Education Programme

29.	  Between __________ months of age, most children 
begin to combine words into short sentences while 
speaking.
(1)	 18 and 24	 (2)	 24 and 30
(3)	 30 and 36	 (4)	 12 and 18

30.	 The concept of intelligence Quotient or IQ was 
developed by:
(1)	 Binet	 (2)	 Stern
(3)	 Terman	 (4)	 Galton

Mathematics and Science
Directions: Answer the following questions by selecting the 
correct/most appropriate options.
31. 	 If two quantities x and y vary inversely with each 

other, then which one of the following is true ?
(1)	 Product of their corresponding values remains  

constant.
(2)	 Summation of their corresponding values 

remains constant.
(3)	 Difference of their corresponding values remains 

constant.
(4)	 Ratio of their corresponding values remains 

constant.
32.	 Given
	 	   7y
	 	 × 6 
	 	  yyy
	 Then the value of y is :

(1)	 6	 (2)	 4
(3)	 2	 (4)	 8

33.	 To fill a rectangular tank of base area 700 m2, 140m3 
of water is required. What will be the height of the 
water level in the tank? 
(1)	 20 cm	 (2)	 30 cm
(3)	 40 cm	 (4)	 10 cm

34.	 Which one of the following is the most suitable 
strategy to teach the skill  of addition of money?
(1)	 Role play	
(2)	 Use of models
(3)	 Doing lots of problems
(4)	 Use of ICT

35.	 After teaching the concept of multiplication to her 
class, a teacher asked her children to multiply 48 by 
4.

	 One of her students solved it orally as “To multiply 
48 by 4, we first add 48 to 48, which makes 96 and 
then add another 96 to reach  192. So, the answer is 
192”.

	 What can you say about his/her strategy of 
multiplication?
(1)	 He/She has not understood  the concept  of 

multiplication.
(2)	 The given problem is a multiplication problem 

and not addition problem.
(3)	 He/She understood multiplication  as repeated 

addition.
(4)	 The child used a wrong method to multiply. 

He/She has to use the place value algorithm to 
multiply the numbers.

36.	 Which one of the following should be taken up as 
initial activity in introducing the concept of ‘time’ to 
young learners?
(1)	 Teaching children how to read time in clock
(2)	 Teaching children how to calculate elapsed time
(3)	 Conversion of time in different units
(4)	 Discussing about the prior experiences with 

phrases related at time.
37.	 Which one of the following is not the purpose of 

assessment?
A.	 Monitoring student’s growth
B.	 Making instructional decision
C.	 Evaluating the effectiveness of curriculum
D.	 Ranking the children  based  on performance
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	 Select the correct answer using the code given 

below:
(1)	 D	 (2)	 B
(3)	 C	 (4)	 A

38.	 Which one of the following methods is most suitable 
for teaching mathematics at upper primary level ?
(1)	 Lecture method	
(2)	 Activity-based learning
(3)	 Problem-solving method	
(4)	 Demonstration method

39.	 Which one of the following is most essential in 
learning mathematics at upper primary level?
(1)	 Exploring different ways of solving a 

problem	
(2)	 Memorizing all formulas
(3)	 Copying correctly what teacher writes on the 

board	
(4)	 Solving a problem many times

40.	 The strategy of questioning used in the mathematics 
class at upper primary level:
(1)	 makes the classroom noisy as the children would 

be talking too much	
(2)	 could create stress among children and may lead 

them to accept the teacher’s authority
(3)	 helps children to express their thoughts or 

understanding and think critically
(4)	 should be discouraged as it demoralizers the 

child  who is unable to answer
41.	 A teacher has taught measurement of area to class 

VIII children but many of her students are confused 
between the usage of different units of area and 
volume. What could  be the reason for such a 
confusion in children?
(1)	 The children  have not memorized different 

units.	
(2)	 Different units have been introduced all together 

without relating them with their daily life.
(3)	 The concept of measurement  of area is a difficult 

topic for a class VIII learner.	
(4)	 The children did not know the use of units  for 

area.
42.	 Which one of the following can be the most 

appropriate aim of encouraging mathematical 
communication in classroom?
(1)	 Children who have fear about mathematics 

should be able to interact in the class
(2)	 To organize debates in the class regarding topics 

of mathematics
(3)	 Children should be able to recite theorems and 

formulas in mathematics class
(4)	 Children should be able to use a precise language 

while talking about mathematical statements 
and using them.

43.	 The purpose of a diagnostic test in mathematics is:
(1)	 to give feedback to the parents
(2)	 to fill the progress report
(3)	 to plan the question  paper for the end term 

examination
(4)	 to know the gaps in children’s understanding

44.	 Remedial teaching is helpful for:
(1)	 recapitulation the lesson
(2)	 teaching in play-way lesson
(3)	 removing learning difficulties of weak students
(4)	 teaching  the whole class

45.	 Which one of the following is not a mathematical 
process?
(1)	  Memorization	 (2)	 Estimation
(3)	 Measurement	 (4)	 Visualization

46.	 “Errors play a crucial  role in learning of 
mathematics”. This statement is:
(1)	 true, because errors reflect the thinking of child
(2)	 false, because  mathematics is exact
(3)	 true, because errors provide feedback  about  the 

marks they obtained
(4)	 false,  because errors occur due to carelessness

47.	 While teaching ‘shapes’, a teacher can plan a trip to 
historical places, as:
A.	 it needs to provide leisure time as most of the 

syllabus has been completed in time
B.	 it would be an opportunity to improve 

communication skill
C.	 shapes are an integral part of every architecture 

and such  trips encourage connections across 
disciplines

D.	 field trips are recommended by Education Board, 
so must be organized

	 State the correct answer using the code given below:
(1)	 C	 (2)	 B and C
(3)	 A, C and D	 (4)	 A and B

48.	 A student was asked to calculate the surface area of 
a cube.

	 He calculated  the volume.
	 The reason(s) of error in calculation is/are:

A.	 the student finds the class boring as he does not 
like mathematics class

B.	 the student is not fit to study  in that class
C.	 the student is not able to understand  the concept 

of surface area and volume
D.	 the student has understood the concept of 

surface area and volume
	 Select the correct answer using the code given below:

(1)	 B and C	 (2)	 D
(3)	 A and B	 (4)	 C

49.	 In a meeting,
 

4
25  

of the members were female. What
 

percent of the members was this?
(1)	 24%	 (2)	 16%
(3)	 4%	 (4)	 40%

50.	 A shop reduced its prices by 10%. What is the new 
price  of an item which  was previously sold for  
` 500?
(1)	 ` 550	 (2)	 ` 450
(3)	 ` 400	 (4)	 ` 510

51.	 Given below is a data set of temperatures (in °C):
	 –6, –8, –2, 3, 2, 0,  5, 4, 8
	 What is the range of the data?

(1)	 16°C	 (2)	 18°C 
(3)	 10°C	 (4)	 0°C

52.	 A coin is tossed 10 times and the outcomes are 
observed as:

	 H, T, H, T, T, H, H, T, H, H,� (H is Head; T is Tail)
	 What is the probability of getting Head?

(1)	
4
5 	

(2)
	

2
5

(3)
	

1
5 	

(4)
	

3
5
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53.	 The numerical expression
 

( 7)3 25
7 8 56

−
+ = −

 
shows that:

(1)	 rational number are closed under subtraction
(2)	 rational numbers are closed under multiplication
(3)	 rational numbers are closed under division
(4)	 rational numbers are closed under addition

54.	 Which one of the following 3D shapes does not 
have a vertex?
(1)	 Prism	 (2)	 Cone
(3)	 Sphere	 (4)	 Pyramid

55.	 If 
5
7

5
7

5
7

4 3 5 2
�
�
�

�
�
� � �

�
�

�
�
� � �

�
�

�
�
�

� �x

, then x is:

(1)	
2
5 	

(2)
	

3
5

(3)
	

4
5 	

(4)	
1
5

56.	 Let a, b, c be three rational numbers, where a =
3
5

, 

b =

 

2
3

 

and c =
−5
6  

. Which one of the following is 

true?
(1)	 a ÷ (b + c) = b ÷ (a + c) 
(2)	 a + (b + c) = c + (a + b) 
(3)	 a – (b – c) = c – (a – b) 
(4)	 a × (b + c) = b × (a + c) 

57.	 A geometric representation, showing the relationship 
between a whole and its part is:
(1)	 pie  chart	 (2)	 bar graph
(3)	 pictograph	 (4)	 histogram

58.	 If q is the square of a natural  number p, then p is:
(1)	 the square root of q	 (2)	 equal to q
(3)	 greater than q	 (4)	 the square of q

59.	 The value of
 91 70 121+ +  

is:

(1)	 10	 (2)	 11
(3)	 12	 (4)	 9

60.	 In a park, 784 plants are arranged so that number of 
plants in a row is same as the number of rows. The 
number of plants in each row is:
(1)	 28	 (2)	 38
(3)	 48	 (4)	 18

61.	 Which one of the following is not a product of 
petroleum?
(1)	 CNG	 (2)	 Paraffin wax
(3)	 Bitumen	 (4)	 Kerosene

62.	 Red Data Book contains a record of:
(1)	 extinct species	 (2)	 flora
(3)	 fauna	 (4)	 endangered species

63.	 Why are the soles of the shoes treaded?
(1)	 To decrease friction
(2)	 To increase friction
(3)	 To increase life of the shoes
(4)	 To give the shoes more protection

64.	 Sarika took distilled water in a bottle and tried to 
find whether it conducts electricity or not. What is 
she likely to find?
(1)	 It is good conductor of electricity
(2)	 It is an insulator
(3)	 It is poor conductor of electricity
(4)	 None of the above

65.	 Which one of the following statements is not correct?
(1)	 There is a maximum limit of current which can 

safely flow in the electric circuit.
(2)	 Fuses are inserted in electric circuits of all the 

buildings.
(3)	 If the proper fuse is inserted in a circuit, it will 

blow off if the current is more than the safe limit.
(4)	 There is a minimum limit of current which can 

safely flow in the electric circuit.
66.	 Which one of the following places is most likely to 

be affected by a cyclone?
(1)	 Puri	 (2)	 Mumbai
(3)	 Goa	 (4)	  Porbandar

67.	 The change in seasons on the earth occurs because:
(1)	 the axis of rotation of the earth is titled with 

respect to the plane of its orbit
(2)	 the distance between the earth and the sun is 

not constant
(3)	 the axis of rotation of the earth is parallel to the 

plane of its orbit
(4)	 the axis of rotation of the earth is perpendicular 

to the plane of its orbit
68.	 There are two columns, Column-A and Column-B:

Column-A Column-B

(a)	 Canopy (i)	 Dead plant and 
animal tissues

(b)	 Decomposers (ii)	 A wild animal

(c)	 Humus (iii)	 Microorganism

(d)	 Porcupine (iv)	 Branches of tall tree

	 Which one of the following is the correct sequence 
of Column-B for the given sequence of Column-A?
(1)	 (i), (iii), (ii), (iv)	 (2)	 (iii), (iv), (ii), (i)
(3)	 (iv), (iii), (i), (ii)	 (4)	 (i), (ii), (iii), (iv)

69.	 Why is formative assessment important in science?
(1)	 It helps in developing scientific temper in 

students.
(2)	 It is diagnostic.
(3)	 It helps in better understanding of science.
(4)	 It is easy to conduct.

70.	 Why are science fairs organized in schools?
(1)	 To help the students to score higher in their 

examination.
(2)	 To nurture creativity and experimentation in 

science among students.
(3)	 To evaluate students on the basis of their 

performance.
(4)	 To prepare students for higher education in 

science.
71.	 As a teacher, which one of the following do you find 

most appropriate for scientific approach to teaching?
(1)	 Show the use of technology for teaching 

concepts.
(2)	 Give projects to the students.
(3)	 Ask the students to perform activities related to 

the concepts.
(4)	 Clarify the students about the concepts in the 

class.
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72.	 According to NCF-2005, “good science education is 

true to life“. What does this mean?
(1)	 Science should be able to engage the child 

meaningfully.
(2)	 Science should enable the child in learning the 

processes of acquiring scientific knowledge.
(3)	 Science should help in living easy life.
(4)	 Science should prepare the child to the world of 

work.
73.	 Which one of the following is not a quality of 

scientific attitude?
(1)	 Curiosity to learn more
(2)	 Objectivity in approach to problems
(3)	 Hard work
(4)	 Open-mindedness

74.	 Hari wants to teach the circular motion to class VI 
students. Which one of the following will be the best 
method?
(1)	 Activity-based teaching
(2)	 Giving examples
(3)	 Demonstration
(4)	 Discussion

75.	 Which one of the following is an important aim of 
learning science?
(1)	 To collect the information of science contents.
(2)	 To imbibe the values of honesty, integrity and 

cooperation among learners.
(3)	 To help the fellow colleagues in getting knowledge 

of science.
(4)	 To get knowledge of science.

76.	 The continuous and comprehensive evaluation in 
science means:
(1)	 more frequent test and examination
(2)	 routine activities and exercises to assess learning
(3)	 evaluation of all aspects of science
(4)	 summative and formative assessment

77.	 Which one of the following is not a step of problem-
solving approach?
(1)	 Attempt to solve
(2)	 Drawing conclusion
(3)	 Observation
(4)	 Visualizing the situation

78.	 Which one of the following is a step of analogy 
strategy in science?
(1)	 Presentation of abstraction
(2)	 Interlinking concepts
(3)	 Application
(4)	 Map similarities

79.	 The longest snakes found in the world are:
(1)	 anacondas	 (2)	 boas
(3)	 reticulated pythons	 (4)	 vipers

80.	 Yoga is done by the people in the world because:
(1)	 it keeps people healthy
(2)	 it increases hunger
(3)	 it brings happiness
(4)	 it is a simple exercise

81.	 The vaccine for smallpox was discovered by:
(1)	 Robert Koch	 (2)	 Edward Jenner
(3)	 Alexander Fleming	 (4)	 Ronald Ross

82.	 Which one of the following is used as preservative?
(1)	 Sodium benzoate	 (2)	 Ammonium sulphate
(3)	 Sodium chloride	 (4)	 Copper sulphate

83.	 Yeast is used for the production of:
(1)	 curd	 (2)	 sugar
(3)	 common salt	 (4)	 alcohol

84.	 Mitochondria: ATP :: Ribosome :?
(1)	 Fat	 (2)	 Protein
(3)	 Vitamin	 (4)	 Carbohydrate

85.	 If the frequency of a simple pendulum is 2 Hz, how 
many oscillations will it complete in 16 seconds?
(1)	 16	 (2)	 32
(3)	 64	 (4)	 8

86.	 Which one of the following metals burns if kept in 
air?
(1)	 Magnesium	 (2)	 Zinc
(3)	 Aluminium	 (4)	 Sodium

87.	 Magnesium hydroxide [Mg (OH)2] is used as:
(1)	 reducing agent	 (2)	 antacid
(3)	 fermentation agent	 (4)	 oxidizing agent

88.	 Which one of the following gases burns with pop 
sound?
(1)	 Hydrogen	 (2)	 Nitrogen dioxide
(3)	 Sulphur dioxide	 (4)	 Oxygen

89.	 Which of the following is/are example (s) of non-
contact force?
(1)	 Muscular force	 (2)	 Gravitation force
(3)	 Magnetic force	 (4)	 Both (1) and (2)

90.	 Diabetes is controlled by __________ hormone.
(1)	 adrenaline	 (2)	 insulin
(3)	 thymosin	 (4)	 thyroxine

Language: English
Directions: Answer the following questions (Q. Nos. 91 to 
105) by selecting the correct/most appropriate options.
91.	 Grammar-translation method is basically used to 

teach:
(1)	 foreign language
(2)	 rules of any language usage
(3)	 classical language
(4)	 grammar

92.	 Which one of the following can be used as a rubric 
for the assessment of fluency and coherence of 
language?
(1)	 Can initiate and logically develop simple 

conversion on a familiar topic.
(2)	 Is always comprehensible, uses appropriate 

intonation.
(3)	 Demonstrates hesitation to find words or use 

correct grammatical structures.
(4)	 Can express with some flexibility and appropriacy 

on variety of topics
93.	 Which one of the following is not the objective 

defined by NCF-2005 for teaching English at upper 
primary level?
(1)	 To use dictionary suitable to their needs.
(2)	 To be able to articulate individual/personal 

responses effectively.
(3)	 To promote learners conceptualization of 

printed texts in terms of heading, paragraph and 
horizontal lines.

(4)	 To negotiate their own learning goals and 
evaluate their own progress; edit, revise, review 
their own work.
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94.	 *If you are listening to the description of how to 

reach a specific location, then you are doing:
(1)	 focused listening	 (2)	 intensive listening
(3)	 extensive listening	 (4)	 casual listening

95.	 If a language teacher has put the words ‘school, 
teacher, headmaster, peon‘ in a group, then she is 
following:
(1)	 semantic grouping	 (2)	 phonetic grouping
(3)	 grammatical grouping	(4)	 lexical grouping

96.	 “At the initial stages of language learning, __________ 
may be one of the languages for learning activities 
that create the child’s awareness to the world.“ 
(NCF-2005)
(1)	 Vernacular language	 (2)	 Second language
(3)	 Hindi	 (4)	 English

97.	 Little or no attention is given to pronunciation in 
__________ method.
(1)	 grammar-translation	 (2)	 CLT
(3)	 SLT	 (4)	 audio-lingual

98.	 Which one of the following does not come under the 
principle of selection and gradation?
(1)	 Availability	 (2)	 Coverage
(3)	 Frequency	 (4)	 Accuracy

99.	 The phenomenon, where a single word is associated 
with two or several related meanings, is known as:
(1)	 homograph	 (2)	 polysemy
(3)	 homonymy	 (4)	 homonyms

100.	“The dog lived in the garden, but the cat, who was 
smarter, lived inside the house“ is an example of:
(1)	 complex compound sentence
(2)	 complex sentence
(3)	 compound sentence
(4)	 simple sentence

101.	If a student of language is cramming his/her answers, 
then he/she would not be able to:
(1)	 attempt vocabulary-based exercise
(2)	 attempt structural questions
(3)	 attempt creative writing
(4)	 attempt question answers

102.	During reading, if a student is piercing information 
together as they read a text keeping track of what is 
happening he/she is:
(1)	 skimming	 (2)	 paraphrasing
(3)	 synthesizing	 (4)	 inferring

103.	Which one of the following does not affect the 
intonation?
(1)	 Tone	 (2)	 Rhythm
(3)	 Loudness	 (4)	 Voice/Pronunciation

104.	__________ are involved in thinking.
(1)	 Image, imagination, concept, proposition.
(2)	 Imagination, language, concept, proposition.
(3)	 Image, language, concept, proposition.
(4)	 Image, language, imagination, proposition.

105.	Language laboratory is the place where the learners 
have to listen on headphone. The language labs are 
set up with a view to provide listening activities in 
order to develop:
(1)	 speech habit	 (2)	 criticizing habit
(3)	 listening activities	 (4)	 analysis habit

Directions: Answer the following questions (Q. Nos. 106 to 
114) by selecting the correct/most appropriate options.
	 Born out of the forces of globalization, India's IT 

sector is undertaking some globalization of its own. In 

search of new sources of rapid growth, the country's 
outsourcing giants are aggressively expanding 
beyond their usual stomping grounds into the 
developing world; setting up programming centres, 
chasing new clients and hiring local talent. Through 
geographic diversification, Indian companies hope to 
regain some momentum after the recession. This shift 
is being driven by a global economy in which the 
US is no longer the undisputed engine of growth. 
India's IT powers rose to prominence largely on the 
decisions made by American executives, who were 
quick to capitalize on the cost savings to be gained 
by outsourcing noncore operations, such as systems 
programming and call centres, to specialists overseas.

	 Revenues in India's IT sector surged from $4 billion 
in 1998 to $59 billion last fiscal, but with the recession 
NASSCOM forecasts that the growth rate of India's 
exports of IT and other business services to the US and 
Europe will drop to at most 7% in the current fiscal 
year, down from 16% last year and 29% in 2007-08.

	 Factors other than the crisis are driving India's IT 
firms into the emerging world. Although the US still 
accounts for 60% of the export revenue of India's IT 
sector, emerging markets are growing faster. Tapping 
these more dynamic economies won't be easy, however. 
The goal of Indian IT firms for the past 30 years has 
been to woo clients outside India and transfer as much 
of the actual work as possible back home, where lower 
wages for highly skilled programmers allowed them 
to offer significant cost savings. With costs in other 
emerging economies equally low, Indian firms can't 
compete on price alone.

	 To adapt, Indian companies which are relatively 
unknown in these emerging nations are establishing 
major local operations around the world, in 
the process hiring thousands of locals. Cultural 
conflicts arise at times while training new recruits. 
In addition, IT firms also have to work extra hard 
to woo business from emerging-market companies 
still unaccustomed to the concept of outsourcing. If 
successful, the future of India's outsourcing sector 
could prove as bright as its past.

106.	What is the author trying to convey through the 
phrase “India’s IT sector is undertaking some 
globalization of its own“?
(1)	 The Indian IT sector is competing with other 

emerging nations for American business.
(2)	 The Indian IT sector is considering outsourcing 

to developing economies.
(3)	 Indian IT firms are engaging in expanding their 

presence internationally.
(4)	 India has usurped America’s position as the 

leader in IT.
107.	Which of the following factors made the services 

offered by the India IT attractive to the US?
A.	 Indian IT companies had expertise in rare core 

operations
B.	 The US lacked the necessary infrastructure and 

personnel to handle mass call centre operations.
C.	 Inability of other equally cost-efficient developing 

countries to comply with their strict policies.
(1)	 Only A	 (2)	 Only A and B
(3)	 Only C	 (4)	 None.



Paper-2:  18th December, 2018 �  337
108.	What has caused Indian IT firms to change the way 

they conduct business in developing countries?
(1)	 The demands of these markets are different from 

those of India’s traditional customers.
(2)	 Wages demanded by local workers are far higher 

than what they pay their Indian employees.
(3)	 Stringent laws which are not conducive to 

outsourcing.
(4)	 The volume of work being awarded cannot be 

handled by Indian firms.
109.	What do the NASSCOM statistics about Indian IT 

exports indicate?
(1)	 Indian IT firms charge exorbitantly for their 

services.
(2)	 India has lost out to other emerging IT hubs.
(3)	 The Indian IT sector should undergo 

restructuring.
(4)	 Drop in demand for IT services by Europe and 

the US.
110.	According to the passage, which one of the following 

is not a difficulty that Indian IT firms will face im 
emerging markets?
(1)	 Local IT services are equally cost-effective.
(2)	 The US is their preferred outsourcing destination.
(3)	 Conflicts arising during the training of local 

talent.
(4)	 Mindset resistant to outsourcing.

111.	Which of the following is/are not true in the context 
of the passage?
A.	 The recession severely impacted the US but not 

India.
B.	 India is trying to depend less on the US as a 

source of growth.
C.	 The future success of Indian IT firms depends on 

emerging markets.
(1)	 Only B and C	 (2)	 Only A
(3)	 Only B	 (4)	 All A, B and C

112.	Which one of the following words is most similar 
in meaning to the word ‘chasing‘ as used in the 
passage?
(1)	 Harassing	 (2)	 Pestering
(3)	 Pursuing	 (4)	 Running

113.	Which one of the following words is most opposite 
to the meaning of the word ‘undisputed‘ as used in 
the passage?
(1)	 Doubtful	 (2)	 Deprived
(3)	 Emphasized	 (4)	 Challenging

114.	Other than crisis, what is driving IT companies to 
seek other options?
(1)	 Emerging markets.
(2)	 The US makes more than 60% of India’s export 

revenue.
(3)	 None of the above.
(4)	 Both (1) and (2)

Directions: Answer the following questions (Q. Nos. 115 to 
120) by selecting the correct/most appropriate options.

Break, Break, Break,
	 On thy cold gray stones, O Sea!
And I would that my tongue could utter
	 The thoughts that arise in me.
O, well for the fisherman's boy,
	 That he shouts with his sister at play!
O, well for the sailor lad,
	 That he sings in his boat on the bay!

And the stately ships go on
	 To their haven under the hill;
But O for the touch of a vanish'd hand,
	 And the sound of a voice that is still!
Break, Break, Break,
	 At the foot of thy crags, O Sea!
But the tender grace of a day that is dead.
	 Will never come back to me.

115.	What is ‘breaking‘ in ‘Break, Break, Break‘?
(1)	 Poet’s heart
(2)	 The wind
(3)	 The sunshine through the clouds
(4)	 The sea

116.	The mood of the speaker in ‘Break, Break, Break‘ is:
(1)	 light hearted
(2)	 somber and grieved
(3)	 energized
(4)	 contemplative and hopeful

117.	The speaker in ‘Break, Break, Break‘ observes all the 
following, except:
(1)	 a sailor boy singing	 (2)	 a lady in a tower
(3)	 ships coming in	 (4)	 children playing

118.	The speaker of ‘Break, Break, Break‘ cannot:
(1)	 see	 (2)	 speak
(3)	 hear	 (4)	 feel

119.	In the first two lines of the poem, the poet uses:
(1)	 apostrophe	 (2)	 assonance
(3)	 metaphor	 (4)	 simile

120.	The phrase ‘haven under the hill‘ is an example of:
(1)	 metaphor	 (2)	 alliteration
(3)	 personification	 (4)	 simile

Language: Hindi

funsZ'k (121-135): uhps fn, x, ç'uksa ds lgh@lcls mi;qä mÙkj okys 
fodYi dks pqfu,µ

121.	Hkk"kk lHkh fo"k;ksa ds ---------- esa gSA
(1)	 v/;k;ksa	 (2)	 dsaæ
(3)	 çkjEHk	 (4)	 i<+us

122.	ßdfork dk ,d fuf'pr vFkZ gksrk gS] ftls lHkh fo|kfFkZ;ksa dks 
i<+uk pkfg,Þµbl dFku ds ckjs esa vki ekurs gSa fdµ
(1)	 lHkh fo|kFkhZ vius vuqHko vkSj ifjos'k esa gh dfork le>rs 

gSaA
(2)	 dfo us dfork ,d vFkZ esa fy[kh ftls gj fo|kFkhZ dks 

le>uk pkfg,A
(3)	 vyx&vyx vFkZ le>us ls i<+us dh çfØ;k ckf/kr gksrh gSA
(4)	 fdlh dfork dks ,d fuf'pr vFkZ ds lkFk i<+uk pkfg,A

123.	vki ekurs gSa fd vyx&vyx rjg dh lkexzh i<+us ds volj 
feyus lsµ
(1)	 O;kdj.k&lEer Hkk"kk lh[kus dks feyrh gSA
(2)	 fdrkcksa ds ckjs esa tkudkjh feyrh gSA
(3)	 ys[kdksa ds ckjs esa tkudkjh feyrh gSA
(4)	 Hkk"kk dks fofo/k lanHkks± esa ç;ksx djus dh le> curh gSA

124.	fgUnh esa foKku laca/kh ikBksa dks i<+kus dk mís'; gSµ
(1)	 foKku fo"k; dks xgjkbZ ls tkuukA
(2)	 foKku ds çfr ftKklk c<+kukA
(3)	 foKku ds lanHkZ esa fgUnh Hkk"kk&ç;ksx dks le>ukA
(4)	 foKku dh Hkk"kk dks le>ukA
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125.	ys[ku&{kerk ds vkdyu ds fy,µ
(1)	 O;kdj.k&lEer Hkk"kk dks ns[kuk gksxkA
(2)	 vFkZiw.kZ okD;ksa vkSj lanHkks± dks ns[kuk gksxkA
(3)	 fy[kkoV dh lQkbZ vkSj lqanjrk dks tk¡puk gksxkA
(4)	 vfHkO;Dr fopkjksa dks tk¡puk gksxkA

126.	fgUnh ds ikBksa esa vU; Hkk"kkvksa ds 'kCnksa ds gksus dk vFkZ gSµ
(1)	 ikB lekt ds cgqHkk"kkh Lo:i dh lgt çLrqrh gSA
(2)	 ikB dfBu vkSj vLi"V gSA
(3)	 fo|kfFkZ;ksa dks 'kq¼ Hkk"kk ugha fl[kkbZ tk jghA
(4)	 ikB dk ys[kd fgUnh ugha tkurkA

127.	vkidh n`f"V esa vH;klµ
(1)	 cPpksa dks rkfdZd cukrs gSaA
(2)	 cPpksa dks Hkk"kk ds ckjs esa crkrs gSaA
(3)	 cPpksa dks mÙkj nsuk fl[kkrs gSaA
(4)	 ikB dks le>us esa enn djrs gSaA

128.	mPp çkFkfed Lrj dh ikB~;lkexzh esa vuqokn lkexzh j[kus dk 
mís'; gSµ
(1)	 çpqj fgUnh lkfgR; dk u gksukA
(2)	 vU; Hkk"kkvksa ds lkfgR; dks fgUnha esa i<+us ds volj nsukA
(3)	 iwjs ns'k dks i<+us ds volj nsukA
(4)	 cgqr&lh lkexzh ls ifjp; djkukA

129.	;fn vkidh d{kk esa n`f"Vckf/kr cPps gSa] rks vkiµ
(1)	 mUgsa i<+us ds mi;qDr lk/ku nsaxsA
(2)	 mUgsa lHkh cPpksa ls vyx xfrfof/k nsaxsA
(3)	 muls de xfrfof/k;k¡ djk,¡xsA
(4)	 mUgsa fo'ks"k lgkuqHkwfr ls i<+k,¡xsA

130.	i<+uk lh[kus ds fy, vko';d gS fdµ
(1)	 ?kj dh Hkk"kk lquus&cksyus dks feysA
(2)	 y{; Hkk"kk dh vFkZiw.kZ vkSj jkspd lkexzh lquus&i<+us dks feysA
(3)	 pkVZ vf/kd ls vf/kd d{kk esa yxk, tk,¡A
(4)	 dsoy y{; Hkk"kk lquus dk ekgkSy gksA

131.	Hkk"kk dsoy vfHkO;fDr dk ek/;e gh ugha cfYd Lo;a ls -------
-- dk ek/;e gSA
(1)	 i<+us	 (2)	 ckrphr
(3)	 lquus	 (4)	 fy[kus

132.	ßyM+ds gksdj jksrs gksÞµ ;g dFkuµ
(1)	 Hkk"kk dks v/;kidksa dh n`f"V ls i<+us dks ck/; gksrk gSA
(2)	 Hkk"kk dks tsaMj dh n`f"V ls i<+us dks ck/; djrk gSA
(3)	 Hkk"kk dks O;kdj.k dh n`f"V ls i<+us dks ck/; djrk gSA
(4)	 Hkk"kk dks cPpksa dh n`f"V ls i<+us dks ck/; djrk gSA

133.	dgkuh ds lanHkZ esa dkSu&lk dFku mi;qDr yxrk gS\
(1)	 dgkuh esa 'kq:vkr gksuk vko';d gSA
(2)	 dgkuh esa 'kq¼ Hkk"kk gksuk vko';d gSA
(3)	 dgkuh esa dFkkud dk gksuk vko';d gSA
(4)	 dgkuh esa laokn gksuk vko';d gSA

134.	,d Hkk"kk ds v/;kid dks cPpksa esaµ
(1)	 vkyadkfjd Hkk"kk&ç;ksx dh le> fodflr djus ij cy nsuk 

pkfg,A
(2)	 fofo/k lanHkks± esa Hkk"kk&ç;ksxksa dh {kerk fodflr djus ij 

cy nsuk pkfg,A
(3)	 'kq¼ Hkk"kk&ç;ksx dh {kerk fodflr djus ij cy nsuk 

pkfg,A
(4)	 Hkk"kk fl¼kUrksa dh le> fodflr djus ij cy nsuk pkfg,A

135.	ßdksbZ Hkk"kk fdlh Hkh fyfi esa fy[kh tk ldrh gSÞµbl dFku ij 
vkidh jk; gS fdµ
(1)	 ;g cgqr gn rd laHko gSA
(2)	 gj Hkk"kk dh viuh fyfi gksrh gSA
(3)	 Hkk"kk vkSj fyfi ds chp ,d lh/kk laca/k gSA
(4)	 ;g fcydqy laHko ughaA

funsZ'k (136-143): uhps fn, x, x|ka'k dks i<+dj iwNs x, ç'uksa ds 
lgh@lcls mi;qä mÙkj okys fodYi dks pqfu,µ

ßHkkjr 15 vxLr] 1947 dks vktkn gqvkA bl vktknh ds fy, iwjs ns'k 
dh turk us ,d yEck vkSj eqf'dy la?k"kZ pyk;k FkkA bl la?k"kZ esa 
lekt ds cgqr lkjs rcdksa dh fgLlsnkjh FkhA rjg&rjg dh i`"BHkwfe 
ds yksxksa us blesa Hkkx fy;kA os Lora=rk] lekurk rFkk fu.kZ; çfØ;k 
esa fgLlsnkjh ds fopkjksa ls çsfjr FksA vkSifuosf'kd 'kklu ds rgr yksx 
fczfV'k ljdkj ls Hk;Hkhr jgrs FksA os ljdkj ds cgqr lkjs QSlyksa ls 
vlger FksA ysfdu vxj os bu QSlyksa dh vkykspuk djrs rks mUgsa Hkkjh 
[krjksa dk lkeuk djuk iM+rk FkkA Lora=rk vkanksyu us ;g fLFkfr cny 
MkyhA jk"Vªoknh [kqysvke fczfV'k ljdkj dh vkykspuk djus yxs vkSj 
viuh ek¡x dh fd fo/kkf;dk esa fuokZfpr lnL; gksus pkfg, vkSj mUgsa 
ctV ij ppkZ djus ,oa fuokZfpr lnL; gksus pkfg, vkSj mUgsa ctV ij 
ppkZ djus ,oa ç'u iwNus dk vf/kdkj feyuk pkfg,A 1909 esa cus 
xouZesaV vkWQ bafM;k ,sDV us dqN gn rd fuokZfpr çfrfuf/kRo dh 
O;oLFkk dks eatwjh ns nhA gkyk¡fd fczfV'k ljdkj us varxZr cukbZ xbZ 
;s 'kq:vkrh fo/kkf;dk,¡ jk"Vªokfn;ksa ds c<+rs tk jgs ncko ds dkj.k gh 
cuh Fkha] ysfdu buesa Hkh lHkh o;Ldksa dks u rks oksV Mkyus dk vf/kdkj 
fn;k x;k Fkk vkSj u gh vke yksx fu.kZ; çfØ;k esa fgLlk ys ldrs FksAÞ
136.	yksx fdu fopkjksa ls çsfjr gksdj vktknh ds la?k"kZ esa 'kkfey gq,\

(1)	 Lora=rk	 (2)	 lekurk
(3)	 fu.kZ; çfØ;k esa fgLlsnkjh	 (4)	 mi;qZDr lHkh

137.	vktknh ds fy, la?k"kZ fdlus pyk;k\
(1)	 ns'k dh turk us	 (2)	 fczfV'k ljdkj us
(3)	 lnL;ksa us	 (4)	 Hkkjrh; jk"Vªh; dkaxzsl us

138.	fuEufyf[kr esa ls yksdrkaf=d O;oLFkk dk ewY; dkSu&lk gS\
(1)	 lekurk	 (2)	 Lora=rk
(3)	 fopkjksa dh vfHkO;fDr	 (4)	 mi;qZDr lHkh

139.	vkanksyu dk D;k vlj iM+k\
(1)	 ljdkj dh [kqydj vkykspuk gksus yxhA
(2)	 yksxksa dks fgLlsnkjh fey xbZA
(3)	 yksdra= LFkkfir gks x;kA
(4)	 fczfV'k 'kkld pys x,A

140.	dkaxzsl dh D;k ek¡x Fkh\
(1)	 fo/kkf;dk esa pqus gq, lnL; gksaA
(2)	 vaxzstksa Hkkjr NksM+ksA
(3)	 vktknh nksA
(4)	 Hkkjrh; ijtksj fojks/k djsaA

141.	lcls lVhd@lkFkZd okD; pqfu,A
(1)	 la?k"kZ euq"; dks mtkM+rk gSA
(2)	 la?k"kZ euq"; dks HkVdkrk gSA
(3)	 la?k"kZ euq"; dks fu[kkjrk gSA
(4)	 la?k"kZ euq"; dks lQyrk fnykrk gSA

142.	^[ksyqvke* 'kCn dk lcls lkFkZd ç;ksx gSµ
(1)	 [kqysvke cjlkr gks jgh FkhA
(2)	 [kqysvke cqjkb;k¡ gks jgh FkhaA
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(3)	 [kqysvke ukd ct jgh FkhA
(4)	 [kqysvke uxkM+s ct jgs FksA

143.	^ncko* 'kCn dk ç;ksx dgk¡ ij gksxk\
(1)	 gok dk -------------- de gks x;kA
(2)	 HkhM+HkkM+ ------------ ls FkkA
(3)	 lHkh pqipki ---------- ls FksA
(4)	 p<+rk ---------- fxjrk x;kA

funsZ'k (144-150): uhps nh xbZ dfork dks i<+dj iwNs x, ç'uksa ds 
lgh@lcls mi;qä mÙkj okys fodYi dks pqfu,µ

eq[; xk;d ds pêku tSls Hkkjh Loj dk lkFk nsrh
og vkokt laqnj detksj dk¡irh gqbZ Fkh
og eq[; xk;d dk NksVk HkkbZ gS
;k mldk f'k";
;k iSny
eq[; xk;d dh xjt esa
og viuh xw¡t feykrk vk;k gS çkphu dky ls
xk;d tc varjs dh tfVy rkuksa ds taxy esa
[kks pqdk gksrk gS
;k vius gh ljxe dks yk¡?kdj
pyk tkrk gS HkVdrk gqvk ,d vugn esa
rc laxrdkj gh LFkk;h dks l¡Hkkys jgrk gS
tSls lesVrk gks eq[; xk;d dk ihNs NwVk gqvk lkeku 
tSls mls ;kn fnykrk gks mldk cpiu
tc og ukSflf[k;k Fkk
rkjlIrd esa tc cSBus yxrk gS mldk xyk
çsj.kk lkFk NksM+rh gqbZ mRlkg vLr gksrk gqvk
vkokt ls jk[k tSlk dqN fxjrk gqvk
rHkh eq[; xk;d dks <k¡<+l c¡/kkrk
dgha ls pyk vkrk gS laxrdkj dk Loj
dHkh&dHkh og ;ksa gh nsrk gS mldk lkFk
;g crkus ds fy, fd og vdsyk ugha gS
vkSj ;g fd fQj ls xk;k tk ldrk gS
xk;k tk pqdk jkx
vkSj mldh vkokt esa tks ,d fgpd lkQ lqukbZ nsrh gS
;k vius Loj dks Å¡pk u mBkus dh tks dksf'k'k gS
mls foQyrk ugha
mldh euq";rk le>k tkuk pkfg,A
144.	laxrdkj ds ek/;e ls dfo fdl çdkj ds O;fDr;ksa dh vksj 

ladsr djuk pkg jgk gS\
(1)	 lân;	 (2)	 lejl
(3)	 laxfny	 (4)	 lg;ksxh

145.	^pêku* tSlk Hkkjh Loj ls vk'k; gSµ
(1)	 iq#"k dh vkokt	 (2)	 xEHkhj vkokt
(3)	 iRFkj dh vkokt	 (4)	 eksVh vkokt

146.	ßxk;d tc varjs dh tfVy rkuksa ds taxy esa [kks pqdk gksrk gSÞ 
ds ek;us gSaµvarjs dks xkrs gq, ogµ
(1)	 yhu gks tkrk gS	 (2)	 cslqjk gks tkrk gS
(3)	 csyxke gks tkrk gS	 (4)	 HkVd tkrk gS

147.	^vugn* 'kCn esaµ
(1)	 ^n* çR;; gS	 (2)	 ^vu* milxZ gS
(3)	 ^gn* çR;; gS	 (4)	 ^v* milxZ gS

148.	^jk[k tSlk dqN fxjrk gqvk* dk vFkZ gSµ
(1)	 Å¡pk Loj	 (2)	 mnkl Loj
(3)	 Hk;Hkhr Loj	 (4)	 cq>rk gqvk Loj

149.	^laxrdkj* dk vFkZ gSµ
(1)	 xk;d ds lkFk jgus okyk	
(2)	 xk;d ds lkFk xkus okyk
(3)	 xk;d dks fc[kjus ls cpkus okyk
(4)	 xk;d dk lkt mBkus okyk

150.	^<k¡<+l c¡/kkuk* dk vFkZ gSµ
(1)	 vk'khokZn nsuk	 (2)	 vkKk nsuk
(3)	 j{kklw= ck¡/kuk	 (4)	 rlYyh nsuk
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1.	 Option (3) is correct.
Explanation: Divergent thinking is the 
process of generating multiple ideas 
or possibilities without focusing on a 
specific conclusion. Thus, divergent 
thinking is related to creativity or 
being a creative one.

2.	 Option (4) is correct.
Explanation: Phonological rules 
define the acceptable combinations 
and patterns of sounds in a language, 
guiding the correct pronunciation 
of words. These rules encompass 
various aspects, including syllable 
structure, consonant clusters, vowel 
sounds, intonation patterns, and 
more. They provide a systematic 
framework for understanding how 
sounds are organized and produced 
in a language.

3.	 Option (1) is correct.
Explanation: Linguistic determinism, 
also known as the Sapir-Whorf 
hypothesis, suggests that language 
influences or shapes human thought 
patterns and perceptions of the world. 
According to this view, the language 
we speak can affect how we think 
and perceive reality. However, it is 
important to note that the extent of 
linguistic determinism and its impact 
on thought patterns is still a topic of 
debate among linguists and cognitive 
scientists.

4.	 Option (2) is correct.
Explanation: Heuristic means when 
someone tries to discover or wants 
to learn something from their own 
experiences. Thus, we can say that 
Ravi is using the heuristic method 
(problem-solving method) proposed 
by H.E. Armstrong, to test hypotheses 
to determine the cause of malfunction 
based on his experiences with the 
symptoms.

5.	 Option (2) is correct.
Explanation: Subgoal analysis invol-
ves breaking down a complex task 
into smaller, manageable sub-goals. 
In other words, we can say, breaking 
the goals into subgoals so that tasks 
can be organized systematically and 
reduce issues expected to arise while 
performing the task. Thus, Divya is 
using Subgoal Analysis in the above 
statement.

6.	 Option (3) is correct.
Explanation: When society assigns 
specific work roles to each gender. 

What behaviours is expected from 
which gender (male or female), then 
society is constructing the specific 
roles of gender. These roles are not 
hereditary and inherent instead 
society forms according to their 
beliefs and thoughts.

7.	 Option (3) is correct.
Explanation: Assessment of learners’ 
achievement involves evaluating their 
understanding and proficiency in the 
concepts taught in the classroom.
Some types of Achievement Tests 
are conducted by teachers in the 
regular classrooms in order to assess 
learners. On the basis of achievement 
test performance learners are graded, 
their proficiencies are coded and 
marked and credit accumulations 
are specified.

8.	 Option (1) is correct.
Explanation: Assessment helps to 
assess students’ performances in 
relation to the learning objectives 
and standards set for them. In 
short, Assessment analyzes learners’ 
achievement and helps the teachers 
to evaluate the effectiveness of 
pedagogy, to adopt new or different 
pedagogy if students aren’t able to 
understand the concepts properly 
and their performance is affected.

9.	 Option (1) is correct.
Explanation: Inclusive Education is 
based on the principle of equity and 
equal opportunities. It aligns with 
Goal 4 of the 2030 Global Agenda 
for Sustainable Development, which 
consists of 17 goals adopted by India 
in 2015. Out of 17 Goals, Goal 4 focuses 
on “ensuring inclusive and equitable 
Quality Education and promoting 
lifelong learning opportunities for 
all”.

10.	 Option (3) is correct.
Explanation: In order to put 
into practice, the United Nations 
Conventions on the Rights of Persons 
With Disabilities and its concerned 
related matters, the Right of Persons 
with Disabilities Act (RPWD Act) 
was enacted in 2016 and came into 
force in 2017, and it aims to promote 
and protect the rights and dignity 
of people with disabilities in various 
spheres such as educational, social, 
cultural, political, and economic.

11.	 Option (1) is correct.
Explanation: Children with indivi-
dual differences require trained 
teachers to meet unique characteristics 

such as physical, emotional, or 
psychological. To accommodate the 
different characteristics a teacher 
should be trained so that she/he:
n	will be able to use different 

pedagogy to meet the learning 
needs of learners.

n	Will be able to use various teaching 
tools and techniques to form a 
bridge between the learning gap 
and the actual learning needs of 
a learner.

n	will be able to understand the 
different psychology of children.

Thus, Children with individual 
differences should be taught in a 
school having trained teachers to 
use different pedagogy to meet their 
diverse learning needs.

12.	 Option (4) is correct.
Explanation: Under Article 21A of 
the Indian Constitution, the Right 
of Children to Free and Compulsory 
Education Act, 2009 aims to provide 
free and compulsory education to all 
children between the ages of 6 years 
to 14 years, whereas, in the case of 
children with disabilities age group 
lies between 6 years to 18 years in 
India.

13.	 Option (3) is correct.
Explanation: The Universal Design 
of Learning is a framework that not 
only provides a variety of teaching-
learning materials to teachers in 
an accessible format for diverse 
learners to teach concepts, but it 
also helps in planning curriculum 
effectively and providing ample 
learning opportunities for teachers 
and learners.

14.	 Option (1) is correct.
Explanation: Metacognition is a 
process of thinking about one's own 
thinking that helps an individual 
to understand oneself better. It 
involves individual awareness of his/
her cognition abilities viz. planning, 
reviewing and revising, etc.

15.	 Option (3) is correct.
Explanation: When children interpret 
the received information based on 
their experiences, it is called concrete 
thinking. Concrete thinking involves 
understanding and processing 
information in a literal and factual 
manner, relying on direct sensory 
experiences and observations. It is 
a type of thinking that is grounded 
in the here and now, focusing on 
tangible objects and events.
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16.	 Option (4) is correct.

Explanation: Differentiated instruc-
tion means teachers modify the 
methods of instruction at various 
levels based on the needs and abilities 
of individual learners. In simple 
words, we can say, differentiated 
instruction is a type of instruction 
where teachers teach a concept 
using a variety of strategies in order 
to maximize learners’ involvement 
in class. Differentiated instruction 
takes into account  students’ learning 
strengths.

17.	 Option (3) is correct.
Explanation: There are four stages 
of Learning: Acquisition, Fluency, 
Maintenance and Generalization. 
Maintenance is a specific stage (where 
a learner uses a skill or concept over 
a period) that is antecedent to the 
generalization stage (where a learner 
applies the skill or concept in a new 
situation among different people, 
activities, and settings) of learning.

18.	 Option (1) is correct.
Explanation: American Social Psy-
chologist, Robert Zajonc is known for 
his contribution to the field of social 
and cognitive processes. He
n	believed that emotion is 

independent of cognition.
n	emphasized the relationship 

between affect, emotion, and 
cognition.

n	Focused on the process of social 
behavior.

19.	 Option (3) is correct.
Explanation: The teacher is using 
the modeling method of teaching. 
In this approach, the teacher 
demonstrates the task to the children, 
showcasing the correct way to 
perform it. The purpose of modeling 
is to provide a clear example for 
the children to observe and learn 
from. By demonstrating the correct 
performance, the teacher aims to 
help the children correct their own 
performances of the already learned 
task. The children can observe the 
teacher's actions and behavior and 
imitate them to improve their own 
performance. Modeling is an effective 
method to facilitate learning and 
enhance students' understanding 
and skills.

20.	 Option (1) is correct.
Explanation: A model of the decision-
making process was proposed by 
Irving Janis and Leon Mann in 1977, 
where children analyze the problems, 
list the numerous alternatives to the 
problem and weigh each alternative’s 
advantages and disadvantages to 
reach the best alternative and then 
finally make careful decisions. This 
behavior is termed vigilance.

21.	 Option (3) is correct.
Explanation: Logical thinking helps 
to analyze a situation logically empha-
sizing reasons (truth or livelihood) 
and then forming a conclusion. Thus, 
we can say that when a child analyzes 
and evaluates problems logically 
and systematically it is called logical 
thinking.

22.	 Option (4) is correct.
Explanation: Drill and practice task 
is a task where children engaging in 
systematic repetitions of concepts, 
practice problems related to them, 
and explore numerous examples for 
the acquisition of knowledge. It is an 
active means of teaching-learning 
instruction where children can enjoy 
while gaining experience.

23.	 Option (4) is correct.
Explanation: The multisensory app-
roach in teaching-learning is where a 
child learns through multiple senses 
(more than one sense is involved 
at a particular time). This approach 
focuses on the simultaneous use of 
visual, auditory, tactile, and kine-
sthetic senses to enhance learning.

24.	 Option (2) is correct.
Explanation: Principles of proximo-
distal development describe the 
development of a child starting from 
the center of the body and moving 
towards the outward parts of the 
body. For example
n	The spinal cord of an infant 

develops before the outer body 
parts. The arms of an infant deve-
lop before the hands. The hands 
and feet develop before the fingers 
and toes, and so on.

n	Infant’s arms develop before the 
hands.

n	Hands and feet develop before the 
finger and toes, etc.

25.	 Option (4) is correct.
Explanation: In school, children learn 
social rules, cultural norms, and values 
that are transmitted to them through 
various activities and functions and 
learn to interact with others. School 
helps to mold children in such a way 
that they share a national identity 
as a whole and prepares children 
for their citizenship roles in society. 
Therefore, the School is an institution 
of socialization of children where 
school children occupy the central 
position.

26.	 Option (4) is correct.
Explanation: Group identity means 
a sense of belongingness of a person 
towards a particular group. Thus, if I 
join a teacher fraternity and choose 
to dress like most of the others in 
your group, I am exhibiting a group 
identity.

27.	 Option (4) is correct.
Explanation: Jean Piaget, a Swiss 
biologist, and Psychologist developed 

a four-stage model showing how the 
mind processes new information. The 
concept of object permanence comes 
under the first stage of development, 
called the Sensorimotor Stage (0 to 
2 years). During this stage, a child 
learns through their senses and 
by manipulating objects  in their 
environment. Additionally, during 
this stage, a child develops an 
understanding that objects continue 
to exist even when they are not 
in their direct line of sight (object 
permanence).

28.	 Option (1) is correct.
Explanation: Child-centered Edu-
cation Programme planned Indivi-
dualized Education Programme 
intends to provide equal opportunity 
to every child irrespective of any 
disability or specialized behavior 
expected from them. Its purpose is 
to meet the current needs of a child, 
rather than relying on predetermined 
assumptions made at the beginning. 
The individualized Education Progra-
mme is entirely prepared from the 
perspective of a child-centered 
approach.

29.	 Option (2) is correct.
Explanation: Between the age of 24 
to 30 months, most children start to 
combine small short words into short 
sentences while speaking. This stage 
of a child is called as telegraphic 
stage or early multiword stage.

30.	 Option (2) is correct.
Explanation: William Stern, a German 
psychologist formulated the concept 
of Intelligence Quotient or IQ in 1912.

Mathematics and Science
31. 	 Option (1) is correct

Explanation: Given, x and y vary 
inversely with each other.

⇒		  x	 ∝  
1
y

⇒		  x	 =  
k
y

⇒		  xy	 = k� where k is 
constant.
Therefore, product of x and y is 
constant.

32.	 Option (2) is correct
Explanation: Given:
	 First number	 = 7y
	  	= (7 × 10) + y
		  = 70 + y� ...(i) 
	Second number
		  = 6� ...(ii)
Product of first and second number 	
		  = yyy
		  = (y × 100) + (y × 10) + y
		  = 100y + 10y + y
		  = 111y� ...(iii)
According to question,
	 Product	 = first number �
� × second number



342�  Oswaal CTET Year-wise Solved Papers
	 yyy	 = 7y × 6� (given)          
or,	 111y	 = (70 + y) × 6�
� [using equation (i),(ii) and (iii)]
or,	 111y	 = 70 × 6 + 6y
or,	 111y – 6y	 = 420
or,	 105y	 = 420

or,	 y	 =
420
105

Hence,	 y	 = 4
So,the value of y remains same.

33.	 Option (1) is correct.
Explanation:
Given,
Base area of rectangular tank = 700 
m2

Volume of water in the tank = 140 m3

The volume of cuboidal tank
	 = length × breadth × height
Therefore,
⇒		  140	 = 700 × h
		  700 h	 = 140

or,		  h	 =
140
700

⇒		  h	 =
 

 m
1
5

We know that,
		  1 m	 = 100 cm

			   =  cm = 20 cm
100

5
Hence, the height of the water level 
in the tank is 20 cm.

34.	 Option (1) is correct.
Explanation: The role play method 
involves participants taking on the 
roles of individuals within a given 
area of concern, with the goal of activ-
ely engaging learners in the develop-
ment of social skills, such as the ability 
to establish and understand inter-
personal relationships and effectively 
address interpersonal problems.

35.	 Option (3) is correct
Explanation: It can be inferred 
from the given scenario that the 
student has grasped the concept of 
multiplication as a form of repeated 
addition, which is considered the 
simplest strategy for multiplication, 
where the student adds numbers 
incrementally to obtain the desired 
multiple.

36.	 Option (4) is correct
Explanation: Teaching young 
learners about time can be difficult 
for educators because it may require 
them to introduce abstract concepts 
that are not always easy for children 
to understand. As a result, it is critical 
for teachers to begin by assessing their 
students’ prior experiences with time-
related phrases and expressions such 
as “yesterday,” “today,” “tomorrow,” 
“next week,” “last month,” and so 
on. This method establishes a link 
between the abstract concept of time 
and the learners’ real-life experiences, 
making the concept more relatable 
and understandable.

37.	 Option (1) is correct.
Explanation: Assessment involves 
systematic collection, analysing 
and using the data to check 
effectiveness of the curriculum and 
enhance the learning process.It is 
used to give feedback about the 
student’s performance. Ranking 
of students is solely based on their 
marks or performance. Segregating 
the students on the basis of their 
performance demotivates them.

38.	 Option (3) is correct.
Explanation: Problem-solving is 
a student-centered approach that 
places emphasis on the learner’s 
active participation in the learning 
process. This approach involves the 
teacher presenting a challenging 
situation to the students and then 
guiding them in identifying, defining 
and articulating the problem in a 
supportive and non-judgmental 
classroom environment.

39.	 Option (1) is correct.
Explanation: At the upper primary 
level, it is crucial to encourage the 
exploration of various problem-
solving strategies in mathematics, as 
this can foster innovative thinking 
and facilitate the quick resolution of 
challenging problems.

40.	 Option (3) is correct.
Explanation: The implementation 
of questioning strategies in upper 
primary level mathematics classes 
can aid children in expressing their 
ideas and comprehension while also 
promoting critical thinking skills. 
The study of mathematics focuses 
on the acquisition of knowledge and 
understanding of various concepts, 
such as the interpretation of data 
from graphs and other sources.

41.	 Option (2) is correct.
Explanation: Teachers can assist 
students in connecting theoretical 
concepts to practical applications by 
relating the various units to their daily 
experiences. This method can help 
students gain a better understanding 
of the concepts and how to apply 
them in their daily lives. It can also 
increase their motivation to learn 
because they will be able to see the 
relevance of what they are learning 
to their everyday experiences.

42.	 Option (4) is correct.
Explanation: Mathematical commun-
ication is essential for the development 
of children’s mathematical abilities. 
The primary goal of promoting 
mathematical communication in the 
classroom is to encourage the use of 
precise and accurate language when 
discussing mathematical concepts and 
using mathematical statements. This 
allows students to better understand 
mathematical concepts and assimilate 
new mathematical terminology.

43.	 Option (4) is correct.
Explanation: Diagnostic teaching is 
an effective method for identifying 
learners’ strengths and weaknesses. 
Educators can provide targeted 
support to students who have unique 
needs and abilities by understanding 
their needs and abilities.

44.	 Option (3) is correct.
Explanation: Remedial teaching is 
an effective method for removing 
subject matter difficulties through 
instructional correctives. Remedial 
teachers can assist struggling students 
in overcoming their difficulties, 
improving their understanding of 
the subject, boost their confidence, 
motivate by providing targeted 
support and personalized instruction.

45.	 Option (1) is correct.
Explanation: The emphasis in 
mathematics is on conceptual and 
theoretical understanding, as well as 
problem-solving abilities. This entails 
using logic and reasoning to solve 
problems rather than memorizing 
information.

46.	 Option (1) is correct.
Explanation: Errors can provide 
valuable insights into how children 
perceive and approach mathematics 
and are a rich source of information 
about their learning. By investigating 
these errors, teachers and parents can 
provide more effective instruction 
and support to students while also 
encouraging a growth mindset in 
them.

47.	 Option (2) is correct.
Explanation: Field trips to historic 
sites and monuments can give 
students firsthand experience with the 
significance of shapes and their role in 
architecture. Shapes are an essential 
component of any architectural 
design and seeing how geometry is 
used in real-world structures can help 
students understand how it relates to 
their studies.
Such trips also enhance communi-
cation skills of the students.

48.	 Option (4) is correct.
Explanation: Errors in a student’s 
work are frequently an indication 
that they did not fully grasp the 
concepts. Teachers can provide 
targeted support to students to help 
them improve their understanding 
and skills in the subject by identifying 
the root cause of errors.

49.	 Option (2) is correct.
Explanation:
Given, Female member in the 

meeting 		  = 4
25

Therefore,
Total members in the meeting = 25
Female members in the meeting = 4
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Percent of female members in the 
meeting 

	

=

Female members 
in the meeting
Total members 
in the meeting

××100

	 = 	 4
25

100 16� � %

Hence, it was 16% of the members.
50.	 Option (2) is correct.

Explanation:
Old price of the item = ` 500
Reduction in price = 10%
So,	 Old price of the item –  reduction 
in price
			   = 500 – (10% of 500)

			 
= 500

10
100

500� ��
�
�

�
�
�

			   = 500 – 50
			   = ` 450
Therefore, the new price will be ̀  450.

51.	 Option (1) is correct.
Explanation:
Highest value in the data = 8
Lowest value in the data = –8
As we know, the range of a set of data 
is the difference between its highest 
value and lowest value.
Therefore, difference between 
highest and lowest data
			   = 8 – (– 8)
			   = 8 + 8
			   = 16 = 16°C

52.	 Option (4) is correct.
Explanation: Total number of 
favorable outcomes = 6
Total number of outcomes = 10
Therefore, probability of getting 
head:

	
P(A)	 =

 

Number of 
favourable outcomes

Total number of 
outcomes

		  =	 6
10

		  =	 3
5

Hence, the probability of getting 

head is 3
5

53.	 Option (4) is correct.
Explanation: Sum of two rational 
numbers is always a rational number.
So, rational numbers are closed under 
addition.

Let a = 3
7  

and b = ( )−7
8  

be a rational 

number
And,	c	= a + b;
Therefore,

		  

3
7

7
8

�
�( )

	
Taking LCM of 7 and 8,
		  7 × 8	 = 56

			 
=  24 49

56
−

			   =
 

( )−25
26

c is also rational number.
Therefore, rational numbers are 
closed under addition.

54.	 Option (3) is correct.
Explanation:
Sphere is the solid object which has 
no vertex.

55. 	 Option (2) is correct.
Explanation:
Here bases are same.
So, powers will be added.
Therefore,
		  4 + (–3)	 = 5x – 2
or, 		  4 – 3	 = 5x – 2
or,		  1	 = 5x – 2
or,		  5x	 = 2 + 1
or,		  5x	 = 3

So,
		

x	 =
 

3
5

56. 	 Option (2) is correct.
Explanation:
Given,

		  a 	= 3
5

 		  b 	= 2
3

		  c 	= −5
6

or,
	

3
5

4 5
6

�
�( )

	
= 

2
3

18 25
30

�
�( )

or,		  3
5

1
5

�
�( )

	
=

 

2
3

7
30

�
�( )

or,		
3
5

5
1

�
�( ) 	

= 
2
3

30
7

�
�( )

or,		  –3	 = 
−20
7

or,	 	 3	 ≠ 20
7

	 Substituting the values of a, b, c in 
option 1, we get,

	

3
5

2
3

5
6

� �
��

�
�

�
�
�

( )

	
=

 

2
3

3
5

5
6

� �
��

�
�

�
�
�

( )

		

1
15 	

=
 

−20
7

or,	 	 3	 ≠ 20
7

LHS is not equal to RHS. Equation is 
not satisfied.

	 Substituting the values of a, b, c in 
option 2, we get,

	

3
5

2
3

5
6

� �
��

�
�

�
�
�

( )

	
=

 

( )�
� ��
�
�

�
�
�

5
6

3
5

2
3

or,
	

3
5

4 5
6

�
�( )

	
= 

��
�
�

�
�
� �

�5
6

9 10
15

( )

or,	
	

3
5

1
6

−
	

= 
�

�
5

6
19
15

or,		  18
5

30
−

	
= � �25

38
15

		

13
30 	

=
 

13
30

LHS is equal to RHS. Equation is 
satisfied.

57. 	 Option (1) is correct.
Explanation: The pie chart is a 
circular graph that is divided into 
several sections, where each section 
represents a specific proportion of 
the overall data presented in the 
chart, demonstrating the relationship 
between the whole circle and its 
individual parts.

58. 	 Option (1) is correct.
Explanation:
Given, if q is the square of a natural 
number p
Let the value of p be 3
Then, 	 square of 3 	= 9
Or 		  we can say, q 	= 9
So, 		  p will be	 = 9 3=
Hence, p is the square root of q.

59. 	 Option (1) is correct.
Explanation: Given,

		  91 70 121+ +

			   = 91 70 11+ +

			   = 91 81+

			   = 91 9+

			   = 100
			   = 10

60.	 Option (1) is correct.
Explanation:
Given, Total number of plants to be 
arranged = 784
Let the number of plants in a row and 
number of rows be x.
So, number of plants to be arranged
			   = �number of plants in 

a row �× number of 
rows

		  784	 = x × x
Therefore, 	 x2	 = 784
		  x	 = 784
		  x	 = 28
Hence, the number of plants in each 
row is 28.

61.	 Option (1) is correct.
Explanation: The product of 
petroleum includes petroleum gas, 
petrol, kerosene, diesel, lubricating 
oil, paraffin wax and bitumen. CNG 
is compressed methane. It is not the 
constituent of petroleum.

62.	 Option (4) is correct.
Explanation:
The Red Data Book is a record of rare 
and endangered animal, plant and 
fungi species, as well as certain local 
subspecies that are facing extinction 
due to a significant reduction in 
their population or the loss of vital 
habitats.
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63.	 Option (2) is correct.

Explanation: The soles of the shoes 
are treaded to make their surface 
rough to increase friction so that we 
can move easily on plane surface. It 
prevents slipping.

64.	 Option (3) is correct.
Explanation: To conduct electricity, 
liquids must have charged particles or 
ions. In distilled water, hydrogen and 
oxygen molecules are present. Both 
molecules are neutral.So, distilled 
water doesn’t conduct electricity.

65.	 Option (4) is correct.
Explanation: In case of electric fuse, 
there is no minimum limit. Only a 
maximum limit on the current which 
can safely flow in the electric circuits 
is there.
Sometime due to heavy current 
flow the electrical devices blow up 
and catch fire. To avoid this, electric 
fuse is installed. In case of excess 
current,the electric fuse go off and 
break the circuit.

66.	 Option (1) is correct.
Explanation: Cyclones, which are 
intense weather conditions with 
low-pressure centres and strong 
winds, typically form in low-pressure 
areas. Because of its location and 
weather patterns, India’s east coast 
is particularly vulnerable to the 
formation of cyclones.
Puri, a coastal city in eastern India, 
is located on the east coast, so it is 
more likely to be affected by cyclones 
than other places on the west coast. 
Because cyclones typically move 
from east to west, the eastern coast 
is often the first to feel the effects of 
these storms.

67.	 Option (1) is correct.
Explanation: The seasonal variations 
on the Earth are caused by the 
planet’s tilt, which causes the axis of 
the Earth to be inclined at an angle 
of 23.5°. As the Earth orbits the Sun, 
it’s tilted axis always points in the 
same direction but the Sun’s position 
relative to this direction changes 
over time. As a result, the amount 
of sunlight reaching various parts of 
the Earth varies, resulting in distinct 
seasonal changes.

68.	 Option (3) is correct.
Explanation: The canopy is the 
aboveground portion of tall trees 
formed by their crowns.
Decomposers are micro organisms 
that feed on dead and decaying 
matter. Examples, earthworms, 
bacteria etc.
Humus is the organic component of 
soil, formed by the decomposition of 
plants and animal tissues.
Porcupine is a wild animal present 
in the forest. It can be described as 
a large rodent with coats of sharp 
spines. 

69.	 Option (2) is correct.
Explanation: Formative assessments 
are diagnostic as they give teachers 
valuable insight into the minds of their 
students. It gives ongoing feedback to 
students as well as teachers.

70.	 Option (2) is correct.
Explanation: Science fairs develop 
scientific attitude and skill of 
presentation among the students. 
Such events motivate them and make 
curious  to learn more.

71.	 Option (3) is correct.
Explanation: Scientific approach pro-
motes scientific thinking in learners. 
They can use information to generate 
the scientific ideas. Performing activi-
ties help in enhancing skills, retaining 
information in minds and nurture 
interest of learners.

72.	 Option (4) is correct.
Explanation: According to NCF 2005, 
Science should prepare the learner to 
the world of work. The science should 
relate to the environment of the child, 
prepare her for the world of work 
and promote her concerns for life 
and preservation of the environment.

73.	 Option (3) is correct.
Explanation: Hard work is not a quality 
of scientific attitude. Some qualities 
of scientific attitude are curiosity, 
rationality, open mindedness, critical 
mindedness, objectivity, honesty etc.

74.	 Option (1) is correct.
Explanation: Student-centered 
activity-based teaching emphasises 
active participation and engagement 
in the learning process. Students are 
encouraged to actively participate in 
various activities that enable them to 
process information and apply it in 
practical ways, rather than simply 
listening to lectures or reading 
textbooks.

75.	 Option (2) is correct.
Explanation: Learning science 
teaches students not only scientific 
concepts and theories, but also 
important values such as honesty, 
integrity and cooperation. These 
values are critical in science and life 
in general and students who adopt 
them are more likely to become 
responsible and ethical individuals.

76.	 Option (2) is correct.
Explanation: Continuous evaluation 
in science means regular tests. 
Comprehensive evaluation means to 
cover both the scholastic and the co-
scholastic aspects of students’ growth 
and development.

77.	 Option (3) is correct.
Explanation: The problem-solving 
approach is a problem-solving method 
that emphasises critical thinking, 
creativity and exploration. Unlike 
some other approaches, such as the 
deductive method, where the solution 

is predetermined, the solution is not 
known in advance in the problem-
solving approach. Rather, students are 
encouraged to investigate the problem, 
consider potential solutions and imag-
ine various scenarios until they find 
the best solution. Observation is not 
typically regarded as a step in the 
problem-solving process because it is 
a foundational skill that underpins the 
entire process.

78.	 Option (4) is correct.
Explanation: Following are the Steps 
of Analogy Strategy in Science:
(a)	 Introduction of concept which is 

to be studied.
(b)	 Enable students to recall  all 

information about the analog 
concept.

(c)	 Find out the important 
characteristics of the concept.

(d)	 Analyse connection between 
the similar features of the laws.

(e)	 Find out where the analogy 
between the law does not work.

(f)	 Derive conclusion based on 
laws.

79.	 Option (3) is correct.
Explanation: The reticulated python 
is the longest snake in the world, 
regularly reaching over 8.25 metres 
in length.

80.	 Option (1) is correct.
Explanation: By connecting the 
body, breath and mind, regular yoga 
reduces levels of stress and body-
wide inflammation. The aim of yoga 
is to integrate and restore a state of 
perfect balance.

81.	 Option (2) is correct.
Explanation: In 1796, Edward Jenner 
developed the first effective vaccine 
against smallpox and he discovered 
that after inoculating people with the 
cowpox virus, it provided protection 
against smallpox infection.

82.	 Option (1) and (3) both are correct.
Explanation: Sodium Benzoate, 
the sodium salt of benzoic acid, is 
commonly used as a preservative in 
food technology and can be found in 
a wide variety of food and beverage 
items.
Common salt is a  preservative 
which is used while making pickles. 
It prevents the growth of micro-
organisms. Hence, preserve the 
pickles.

83.	 Option (4) is correct.
Explanation: Yeast is a microorganism 
that is widely used in the production 
of fermented products such as cakes, 
bread and alcohol.

84.	 Option (2) is correct.
Explanation: Mitochondria, a double 
membrane bound cell organelle, 
produces energy in the form of ATP, 
whereas ribosomes aid in protein 
synthesis.
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85.	 Option (2) is correct.

Explanation:
Given, 	 Frequency	 = 2 hz 
and		  time	 = 16 sec
		  Oscillations	 = Frequency �
� × time 
			   = 2 × 16 = 32
Therefore, it will complete 32 
oscillations in 16 seconds.

86.	 Option (4) is correct.
Explanation: Sodium, being highly 
reactive, can quickly react with air 
and catch fire. Therefore, it is stored 
under kerosene oil to prevent burning. 
Magnesium, Zinc and Aluminum, on 
the other hand, are less reactive than 
sodium.

87.	 Option (2) is correct.
Explanation: Magnesium hydroxide 
is an antacid that is commonly 
used to treat heartburn and acid 
indigestion in the stomach. It works 
by neutralizing excess stomach acid 
which can cause digestive discomfort 
and irritation.

88.	 Option (1) is correct.
Explanation: When hydrogen gas 
reacts with oxygen, a small explosion 
occurs, producing a pop sound. 
Hydrogen gas is highly flammable, 
whereas Sulphur dioxide, nitrogen 
dioxide and oxygen are not.

89.	 Option (2) and (3) are correct.
Explanation: A non-contact force is a 
type of force that acts between objects 
without requiring physical contact 
between them. For example, when an 
apple falls from a tree, it is subjected 
to a non-contact force. Gravitational 
and magnetic forces are examples 
of non-contact forces, but muscular 
force is not one of them.

90.	 Option (2) is correct.
Explanation: Pancreas produce 
insulin hormone which controls 
blood sugar level. If the level of 
insulin in the blood decreases,the 
patient is diagnosed as diabetic. 
Treatment includes taking insulin 
injections or using insulin pump.

Language: English
91.	 Option (4) is correct.

Explanation: Grammar-translation 
method is basically used to teach 
foreign languages.
n	Grammar translation method is a 

method where the learner learns 
grammatical rules first and then 
applies those rules in translating 
sentences from a second language 
into the mother tongue. This 
method focuses on
l	Enhancing learners’ reading 

and writing skills.
l	Facilitate learning through the 

mother tongue.

l	Emphasizing knowledge 
rather than content.

l	Translation of target language 
into mother tongue

92.	 Option (1) is correct.
Explanation: Using assessment of 
learning, assessment of speaking 
skills can be made an important 
component of the overall assessment. 
Parameters of assessment can include:
n	Interactive competence (Initiation 

& turn-taking, relevance to the 
topic).

n	Fluency (cohesion, coherence, and 
speed of delivery).

n	Pronunciation
n	Language (accuracy and 

vocabulary).
Thus, we can say that learners can 
initiate and logically develop simple 
conversations on a familiar topic 
that can be used as a rubric for the 
assessment of fluency and coherence 
of language.

93.	 Option (3) is correct.
Explanation: To promote learners’ 
conceptualization of printed texts 
in hers of heading, paragraph and 
horizontal lines is an objective that is 
not defined by NCF-2005 for teaching 
English at upper primary level.
Some objectives of teaching English at 
the upper primary level as mentioned 
in NCF-2005 includes:
n	Child-centred teaching-learning 

process.
n	Promoting a multilingual class-

room environment.
n	Learners can negotiate their own 

learning goals.
n	Promoting critical thinking.
n	Learners can use a dictionary as 

per their needs and suitability.
n	Articulate individual responses 

effectively.
n	Leaners can evaluate their 

progress by reviewing their and 
their peer work.

94.	 Option (2) is correct.
Explanation: If you are listening to 
the description of how to reach a 
specific location, then you are doing 
intensive learning.
n	Intensive learning means when 

an individual purposefully listens 
something or someone with full 
concentration and attention to 
achieve specific goal or objective.

95.	 Option (1) is correct.
Explanation: If a language teacher 
has put the words ‘school, teacher, 
headmaster, peon’ in a group, then 
she is following semantic grouping.
n	Semantic grouping refers to a 

group related together based on 
their purpose. In other words, 
we can say when similar context 
words are similar type are 
clustered together, they are called 
semantic grouping.

n	In the above example, school, 
teacher, headmaster and peon are 
related to a specific cluster that is 
education.

96.	 Option (1) is correct.
Explanation: Vernacular language is 
a language used by citizens living in 
a specific region. As per NCF 2005, at 
the initial stages, a learner’s mother 
tongue or a local language is used as 
it is considered the best medium of 
instruction. Thus, we can say that “At 
the initial stages of language learning, 
vernacular language may be one of 
the languages for learning activities 
that create the child’s awareness to 
the world.” (NCF-2005)

97.	 Option (1) is correct.
Explanation: Little or no attention is 
given to pronunciation in grammar 
translation method.
n	Grammar translation method 

is method where learner learns 
grammatical rules first and then 
apply those rules in translating 
sentences from second language 
into the mother tongue. This 
method focuses on
l	Enhancing learner’s reading 

and writing skills.
l	Facilitate learning through the 

mother tongue.
l	Emphasizing knowledge 

rather than content.
l	Translation of target language 

into mother tongue
Thus, from the above we can say that 
attention is given to pronunciation 
in Commutative Language teaching 
(CLT), Situational Language Teaching 
(SLT) and Audio-Lingual method 
but not in the grammar translation 
method.

98.	 Option (4) is correct.
Explanation: Accuracy does not come 
under the principle of selection and 
graduation.
n	Principle of selection and gradua-

tion refers to selecting appropriate 
teaching materials and placing the 
language items in sequence. The 
principle of selection and gradation 
is based on the following items:
l	Learnability: How far an item 

is easy to learn for students.
l	Teachability: How far an item 

is easy to teach for teachers.
l	Availability: How far an item 

is convenient to teach.
l	Range: In what context a word 

can, be used differently.
l	Frequency: How often a word 

is used.
l	Coverage: How many different 

meanings a word can convey.
99.	 Option (2) is correct.

Explanation: The phenomenon, 
where a single word is associated 
with two or several related meanings, 
is known as polysemy.
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n	Polysemy: means the co-existence 

of many possible meanings of a 
word or phrase.

100.	 Option (1) is correct.
Explanation: “The dog lived in the 
garden, but the cat, who was smarter, 
lived inside the house” is an example 
of a complex compound sentence.
n	Complex compound sentences 

are those sentences that include 
two independent clauses and one 
dependent clause. It always has 
coordinating conjunction.

n	Reasons for mentioning the above 
sentence as a complex compound 
sentence:
l	“the dog lived in the garden” 

and “the cat lived inside the 
house”: Independent Clauses

l	“who was smarter”: dependent 
Clause

l	“But”: Conjunction
101.	 Option (3) is correct.

Explanation: If a student of language 
is cramming his/her answers, then 
he/she would not be able to attempt 
creative writing.
n	Cramming: Cramming refers 

to mugging up the facts and 
information in a short period of 
time.

n	Creative Writing: Creative writing 
refers to the creative mind and 
thinking process of learners that 
encourages him/her to think and 
write innovatively.

102.	 Option (3) is correct.
Explanation: During reading, if 
a student is piercing information 
together as they read a text keeping 
track of what is happening, he/she is 
synthesizing.
n	Synthesizing is a process of com-

bining information from the 
available sources and making a 
relation among sources to form a 
new idea or form conclusion.

103.	 Option (4) is correct.
Explanation: Intonation is the 
rising and falling of voice while 
communicating that helps to under 
the expressions and thoughts of an 
individual. Following are affected by 
intonation.
n	Tone: Tone refers to sound with 

reference to its pitch, quality, 
and strength in words while 
communicating.

n	Rhythm: Rhythm refers to a 
regular repeated pattern of sound 
or movement of words while 
communicating.

n	Loudness: Loudness refers to 
the amplitude of sound waves 
produced while communicating.

Whereas pronunciation refers to 
the way how a word is pronounced 
rather than related to voice 
modulation. Thus, we can say that 

voice/pronunciation does not affect 
the intonation.

104.	 Option (2) is correct.
Explanation: Thinking is a mental 
process of manipulating provided or 
given information to generate new 
ideas or form conclusions. Following 
are involved in thinking:
n	Imagination: Imagination is the 

ability of the mind to form new 
ideas or images of concepts.

n	Language: An act of communi-
cation used to express thoughts is 
called language.

n	Concept: When an individual 
thinks logically by organizing 
complex phenomena or situa-
tions into simpler ones, easily 
understandable, and help to solve 
problems it is called concepts.

n	Proposition: Proposition creates a 
link between our mental processes 
and helps to form a conclusion an 
idea is true or false.

105.	 Option (1) is correct.
Explanation: Language Laboratory 
is a designated innovative place 
where learners have access to 
various audio or audio-visual aids 
for developing language skills. It 
is a place where exposure is given 
to students about various listening 
and speaking activities to facilitate 
language learning. Thus, we can 
say, the language laboratory is the 
place where the learners must listen 
to headphones. The language labs 
are set up with a view to providing 
listening activities to develop speech 
habits.

106.	 Option (3) is correct.
Explanation: “In search of new 
sources of rapid growth, the 
country’s outsourcing giants are 
aggressively expanding beyond 
their usual stomping grounds into 
the developing world; setting up 
programming centres, chasing new 
clients and hiring local talents”.
From the above lines from the pass-
age, we can say that the author try-
ing to convey through the phrase 
“India’s IT sector is undertaking some 
globalization of its own” that Indian 
IT firms are engaging in expanding 
their presence internationally.

107.	 Option (3) is correct.
Explanation: “India’s IT power rose to 
prominence largely on the decisions 
made by American executives, who 
were quick to capitalize on the cost 
savings to be gained by outsourcing 
noncore operations, such as systems 
programming and call centres, to 
specialists overseas.”
From the above lines of the passage, 
we can say that the factors made 
the services offered by the Indian 
IT attractive to the US is that the 
inability of other equally cost-efficient 

developing countries to comply with 
their strict policies.

108.	 Option (2) is correct.
Explanation: “The goal of Indian IT 
firms for the past 30 years has been to 
woo clients outside India and transfer 
as much of the actual work as possible 
back home, where lower wages for 
highly skilled programmers allowed 
them to offer significant cost savings.”
From the above lines of the passage, 
we can say that Indian IT firms 
change the way they conduct 
business in developing countries as 
wages demanded by local workers 
are far higher than what they pay 
their Indian employees.

109.	 Option (4) is correct.
Explanation: “Revenues in India’s IT 
sector surged from $4 billion in 1998 
to $59 billion last fiscal, but with the 
recession NASSCOM forecasts that 
the growth rate of India’s exports of 
IT and other business services to the 
US and Europe will drop to at most 
7% in the current fiscal year, down 
from 16% last year and 29% in 2007-
08.”
From the above lines of the passage, 
we can say that NASSCOM statistics 
about Indian IT exports indicate a 
drop in demand for IT services in 
Europe and the US.

110.	 Option (3) is correct.
Explanation: “Cultural conflicts arise 
at times while training new recruits.”
From the above lines derived from the 
passage, we can say that, according to 
the passage, conflicts arising during 
the training of local talents are not 
a difficulty that Indian IT firms will 
face in emerging markets.

111.	 Option (2) is correct.
Explanation: “Revenues in India’s IT 
sector surged from $4 billion in 1998 
to $59 billion last fiscal, but with the 
recession NASSCOM forecasts that 
the growth rate of India’s exports of 
IT and other business services to the 
US and Europe will drop to at most 
7% in the current fiscal year, down 
from 16% last year and 29% in 2007-
08.”
From the above lines derived from 
the passage, we can say that the 
recession severely impacted the US 
but not India is not true in the context 
of the passage.

112.	 Option (3) is correct.
Explanation: ‘Pursuing’ is most 
similar in meaning to the word 
‘chasing’ as used in the passage.
n	Chasing means to pursue 

something or someone to catch 
or catch up with.

n	Pursuing means to follow or chase 
someone or something.
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113.	 Option (1) is correct.

Explanation: ‘Doubtful’ is the most 
opposite to the meaning of the word 
‘undisputed’ as used in the passage.
n	Undisputed means accepted.
n	Doubtful means feeling uncertain 

about something.
114.	 Option (4) is correct.

Explanation: “Factors other than 
the crisis are driving India’s IT firms 
into the emerging worls. Although 
the US still accounts for 60% of the 
export revenue of the India’s sector, 
emerging markets are growing 
faster.”
From the above lines derived from 
the passage, we can say that other 
than crisis, IT companies seek other 
options to
n	Emerging markets
n	The Us makes more than 60% of 

India’s export revenue.
115.	 Option (4) is correct.

Explanation: “Break, Break, Break,
On the cold gray stones, O Sea!”
From the above line of the poem, we 
can say that ‘The sea’ is ‘breaking’ in 
‘Break, Break, Break’.

116.	 Option (2) is correct.
Explanation: The poem is in a dull 
tone and a sense of sadness and 
deep seriousness is felt, representing 
the somber mood of the speaker. In 
addition to this, the poem shows 
the speaker is in intense sorrow and 
great distress as the speaker is not 
speaking, thus poet is grieving. Thus, 
we can say conclude that, the mood 
of the speaker in ‘Break, Break, Break’ 
is somber and grieved.

117.	 Option (2) is correct.
Explanation: From the explanation 
mentioned below, we can say that 
the speaker in ‘Break, Break, Break’ 
observes all the following except a 
lady in a tower.
n	“O, well for the fisherman’s boy,
	 That he shouts with his sister at 

play!”
	 From the above lines of the poem, 

we can say, the poet observes that 
children were playing.

n	“O, well for the sailor lad,
	 That he sings in his boat on the 

bay!”
From the above lines of the poem 
we can say, the poet observes a 
sailor boy singing.

n	“And the stately ships go on,
	 To their haven under the hill 

prove.”
From the above lines of the poem, 
we can say that poet observes 
ships that are coming in.

118.	 Option (2) is correct.
Explanation: “And I would that my 
tongue could utter
The thoughts that arise in me.”

From the above lines of the poem, 
we can say that the speaker of ‘break, 
Break. Break’ cannot ‘speak’.

119.	 Option (1) is correct.
Explanation: “Break, Break, Braek,
On the cold gray stones, O Sea!
From the above lines of the poem, we 
can say that the first two lines of the 
poem, is ending with a ! mark, thus, 
the poet uses an apostrophe.

120.	 Option (3) is correct.
Explanation: “To their haven under 
the hill;”
From the above lines of the poem, 
we can say that the phrase ‘haven 
under the hill’ is an example of 
personification.
n	Personification emphasizes a 

non-human’s characteristics by 
describing them with human 
attributes.

Language: Hindi

121.	 fodYi (2) mfpr gSA
O;k[;kµHkk"kk lHkh fo"k;ksa ds dsUæ esa gSA 
Hkk"kk ds ek/;e ls O;fDr viuh ckr nwljs 
O;fDr rd igq¡pkrk gSA
Hkk"kkµ
(i)	 vfHkO;fDr dk ek/;e
(ii)	 lEçs"k.k dk ek/;e
(iii)	 lHkh fo"k;ksa dk Kku Hkk"kk ds ek/;e ls 

igq¡prk gSA
Hkk"kk eq[k ls mPpkfjr gksus okyh og /ofu gS 
ftldk ç;ksx euq"; vius eu ds fopkjksa dk 
vknku&çnku djus ds fy, djrk gSA Hkk"kk 
,d vkStkj gS ftldk mi;ksx euq"; ftanxh 
ls tqM+us ds fy, rFkk ftanxh ds vuqHkoksa dks 
lk>k djus ds fy, djrk gSA

122.	 fodYi (1) mfpr gSA
O;k[;kµßdfork dk ,d fuf'pr vFkZ 
gksrk gS] ftls lHkh fo|kfFZk;ksa dks i<+kuk 
pkfg,Þµbl dFku ds ckjs esa gekjk ekuuk gS 
fd lHkh fo|kFkhZ vius vuqHko vkSj ifjos'k 
esa gh dfork le>rs gSaA
eq[; fcUnqµ
(i)	 dfork lgt vfHkO;fDr dk ek/;e gksrh 

gSA
(ii)	 blesa y;kRedrk gksrh gSA
(iii)	 dfork ds ek/;e ls Nk= yk{kf.kd vFkZ 

dks xzg.k djrs gSaA
dforkµtc fdlh dgkuh ;k Hkko dks 
dykRed (Nan] vyadkj vkfn dk ç;ksx 
djds) :i ls vfHkO;ä fd;k tk;s rks og 
dfork dgykrh gSA bldk 'kkfCnd vFkZ doh 
dh Ïfr gSA dfork dk ,d fuf'pr vFkZ gksrk 
gS] ftls lHkh fo|kfFkZ;ksa dks i<+uk pkfg, D;ksfd 
lHkh fo|kFkhZ vius vuqHko vkSj ifjos'k esa gh 
dfork le>rs gSaA

123.	 fodYi (4) mfpr gSA
O;k[;kµge ekurs gS fd vyx&vyx rjg 
dh lkexzh i<+us ds volj feyus ls Hkk"kk dks 

fofo/k Hkk"kk dks fofo/k lUnHkks± esa ç;ksx djus 
dh le> curh gSA
eq[; fcUnqµ
(i)	 Nk= Hkk"kk dh jpuk 'kSyh ls ifjfpr 

gksaxsA
(ii)	 lkfgR; esa ftKklk tkxzr gksxhA
(iii)	 Hkk"kk ds ek/;e ls lekt vkSj laLÏfr 

ls ifjfpr gksus dk volj çkIr gksxkA
Hkk"kk eq[k ls mPpkfjr gksus okyh og /ofu gS 
ftldk ç;ksx euq"; vius eu ds fopkjksa dk 
vknku&çnku djus ds fy, djrk gSA cPpksa 
esa Hkk"kk Kku esa o`f¼ ls rkRi;Z mUgsa fofHkUu 
lanHkZ esa Hkk"kk ç;ksx esa lQy cukuk gS rkfd 
os n{krk ds lkFk lgt vfHkO;fä ds fodkl 
dks lqfuf'pr dj ldsaA

124.	 fodYi (3) mfpr gSA
O;k[;kµfgUnh esa foKku lEcU/kh ikBksa dks 
i<+kus dk mís'; gS foKku ds lUnHkZ esa fgUnh 
Hkk"kk&ç;ksx dks le>ukA
eq[; fcUnqµ
(i)	� blds }kjk laKkukRed fodkl dks 

etcwr fd;k tkrk gSA
(ii)	� Nk=ksa ds ckSf¼d fodkl ds fy, mi;ksxh 

gSA
Hkk"kk eq[k ls mPpkfjr gksus okyh og /ofu gS 
ftldk ç;ksx euq"; vius eu ds fopkjksa dk 
vknku&çnku djus ds fy, djrk gSA Hkk"kk 
,d vkStkj gS ftldk mi;ksx euq"; ftanxh 
ls tqM+us ds fy, rFkk ftanxh ds vuqHkoksa dks 
lk>k djus ds fy, djrk gSA
^Hkk"kk lHkh fo"k;ksa dk dsaæ gS*A

125.	 fodYi (4) mfpr gSA
O;k[;kµys[ku {kerk ds vkdyu ds fy, 
vfHkO;Dr fopkjksa dks tk¡puk gksxkA
ys[ku {kerk dks fodflr djus ds mís';µ
(i)	 o.kks± dks Bhd&Bhd fy[kuk lh[kukA
(ii)	 'kq¼ v{kj foU;kl dk Kku djkukA
(iii)	 fopkj rkfdZd Øe esa çLrqr djukA
(iv)	 vuqHkoksa dk ys[ku djukA
(v)	� Nk=ksa dks l`tukRed 'kfDr vkSj ekSfyd 

jpuk djus esa fuiq.k cukukA
fy[kuk vFkkZr ys[ku dkS'ky pkjks Hkk"kk dkS'kyksa 
esa lcls vafre pj.k gSA cPpksa esa ys[ku dkS'ky 
dk fodkl ekSfyd fopkjksa dks fyf[kr :i 
nsus rFkk fofHkUu mís';ksa ds fy, fy[kus dh 
{kerk dks lanfHkZr djrk gSA
ys[ku&{kerk ds vkdyu ds fy, fLFkfr esa 
cPpksa dks ,slh xfrfof/k;ksa esa fyIr gksus dk 
ekSdk nsuk pkfg, ftlls fd muds fopkjksa esa 
ekSfydrk dk lekos'k gks ldsA blds fy, fn, 
x;s fodYiksa esa ls lcls mi;qä rjhdk cPpksa 
ds vfHkO;ä fopkjksa dks tk¡puk gksxk D;ksafd 
fopkjksa ds fyf[kr o.kZu djus ds nkSjku cPpsµ
n	n{krk ds lkFk lgt vfHkO;fä ds fodkl 

dks lqfuf'pr dj ldsaxsA 
n	okLrfod vuqHko ds lkFk Hkk"kkbZ dkS'kyksa 

dks lqxerk ls xzg.k djsaxsaA 
n	rF;ksa dks Lo;a ds futh vuqHkoksa ls tksM+ 

dj vius fopkjksa dks vfHkO;ä djsxsaA 
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n	Lora= ,oa ekSfyd vfHkO;fä ds volj 

çkIr dj vius fopkjksa dks [kqy dj j[ksaxsA

126.	 fodYi (1) mfpr gSA
O;k[;kµfgUnh ds ikBksa esa vU; Hkk"kkvksa 
ds 'kCnksa ds gksus dk vFkZ gSµikB lekt ds 
cgqHkk"kh Lo:i dh lgt çLrqfr gSA O;fDr 
;k Nk= ,d lekt dk fgLlk gksrk gSA lekt 
easa jgdj gh og viuk thou ;kiu djrk gSA 
blfy, fcuk lekt ds mldh dYiuk ugha 
dh tk ldrh gSA
cgqHkk"kkokn ,d O;fä dks nks ls vf/kd 
Hkk"kkvksa dk mi;ksx djus dh {kerk dks lanfHkZr 
djrk gSA fganh Hkk"kk f'k{k.k esa cgqHkk"khokn 
dk mís'; fuEufyf[kr gSµ
n	f'k{k.k&vf/kxe ds fy, f'k{kkfFkZ;ksa dh 

Hkk"kkvksa dk mi;ksx djukA
n	Hkk"kk dSls dke djrh gS bldh csgrj lgt 

le> c<+ tkrh gSA
n	LFkkuh; Hkk"kkvksa dh jpukRedrk] lekt 

ds cgqHkk"kh Lo:i] fHkUu lksp vkSj ç'kalk 
dks c<+krk gSA

127.	 fodYi (4) mfpr gSA
O;k[;kµgekjh n`f"V ls vH;kl ikB dks 
le>us esa enn djrs gSaA
eq[; fcUnqµ
(i)	� vH;kl }kjk fo"k; oLrq dk ckjhdh ls 

v/;;u fd;k tkrk gSA
(ii)	� vuqHkoksa dks O;kid cukus ds fy, 

vH;kl fd;k tkrk gSA
(iii)	� yEcs le; rd ;kn djus ds fy, 

fdlh Hkh fo"k; oLrq dk vH;kl djuk 
vko';d gSA

ikBî&iqLrdksa esa çR;sd ikB vFkok fo"k; oLrq 
ds vUr esa vH;kl dk;Z fn;k gksrk gS] ftudk 
eq[; dk;Z ikB dks le>uk gksrk gSA vH;kl 
dk;Z ;g ij[kus ds fy, gksrk gS fd cPps us 
ikBî&iqLrd dks fdruh xgjkbZ ls i<+k gSA 
ftl mís'; ls ikB dks ikBî&iqLrd esa 'kkfey 
fd;k gS] cPps ml mís'; dks fdl lhek rd 
çkIr dj ik, gSaA vH;kl dk dk;Z O;kid 
vuqHko Lrj esa rYyhu gksus dk volj nsrs gSA

128.	 fodYi (2) mfpr gSA
O;k[;kµmPp çkFkfed Lrj dh ikB~; lkexzh 
esa vuqokn lkexzh j[kus dk mís'; gSµ vU; 
Hkk"kkvksa ds lkfgR; dks fgUnh esa i<+us ds 
volj nsukA
eq[; fcUnqµ
(i)	� blls Nk=ksa dks ckSf¼d fodkl gksrk gSA
(ii)	� çR;sd fo"k; dks le>us ds ihNs viuk 

n`f"Vdks.k fodflr gksrk gSA
(iii)	� Nk= Hkk"kk ds fofHkUu Lo:iksa dks 

vkykspukRed n`f"V ls Hkh ij[krs gSaA
(iv)	� futh vuqHkoksa ds vk/kkj ij Hkk"kk dk 

Nk= l`tu'khy ç;ksx djrs gSaA
f'k{k.k lkexzhµf'k{kdksa }kjk f'k{k.k lkexzh 
dk mi;ksx f'k{kkfFkZ;ksa dks vklkuh vkSj n{krk 
ds lkFk vo/kkj.kk lh[kus esa enn djus ds 

fy, fd;k tkrk gSA f'k{k.k lkexzh dh fo'ks"krk 
fuEu gSµ
n	lkexzh dks cPpksa ds fy, vkd"kZd gksuk 

pkfg,A vkdkj] jax (cgq&jax ;k 'kkunkj 
;k vkd"kZd jax la;kstu)] xfrfof/k (tSls 
pyrs f[kykSus) vkSj dqN ekeyksa esa xa/k] 
Lokn ;k /ofu lkexzh dh dqN fo'ks"krk,a 
gSa tks ;qok f'k{kkfFkZ;ksa dk /;ku vkdf"kZr 
djrh gSaA

n	lkexzh dh ifjfprrk ubZ vo/kkj.kkvksa dks 
is'k djus esa enn djsxhA cPps ubZ vo/
kkj.kkvksa ds lkFkZd lh[kus ds fy, vklkuh 
ls bu lkefxz;ksa dks pyk ldrs gSaA

n	lkexzh dh uohurk cPpksa dks Hkh vkdf"kZr 
djrh gSA vlkekU; lkexzh ;k ifjfpr 
lkefxz;ksa uohu mi;ksx vPNh lkexzh dh 
vkd"kZd fo'ks"krk,a gSaA

n	lkexzh esa mi;ksfxrkoknh ewY; gksuk pkfg,A 
dksbZ Hkh lkexzh ,d vPNk ;k cqjh lkexzh 
ugha gksrh] ;g mfpr mi;ksx esa gS tks lkexzh 
dks vPNk ;k cqjk cukrk gSA tSls mPp 
çkFkfed Lrj dh ikBîlkexzh esa vuqokn 
lkexzh j[kus dk mís'; gS vU; Hkk"kkvksa ds 
lkfgR; dks fganh esa i<+us ds volj nsukA

129.	 fodYi (1) mfpr gSA
O;k[;kµ;fn gekjh d{kk esa n`f"Vckf/kr cPps 
gSa] rks ge mugsa i<+us ds mi;qDr lk/ku nsaxsA
d{kk/;kid dh dqN egRoiw.kZ dk;Zµ
(i)	� vuqns'ku dks çHkkodkjh cukus ds fy, 

fo'ks"k midj.kksa dk mi;ksx djukA
(ii)	� oS;fDrd ck/kkvksa dks /;ku esa j[krs gq, 

vuqns'ku esa vko';d cnyko djukA
czsy çf'k{k.kµ
(i)	� n`f"Vckf/kr Nk= ikBu o ys[ku dk dk;Z 

Li'kZ :i esa djrk gSA czsy N% mHkjh 
fcUnqvksa ij vk/kkfjr ,d Li'khZ; fyfi 
gSA czsy ys[ku dk;Z nk,¡ ls ck,¡ dh vksj 
gksrk gS tcfd iBu ck,¡ ls nk,¡ dh vksj 
gksrk gSA

lekos'kh d{kk ,d f'k{kk ç.kkyh dks lanfHkZr 
djrh gS ftlesa 'kkjhfjd] ckSf¼d] lkekftd] 
Hkk"kkbZ] ;k vU; fHkUu&fHkUu ifjfLFkfr;ksa dh 
ijokg fd, fcuk cPps 'kkfey gksrs gSaA
f'k{k.k&vf/kxe çfØ;k esa] n`f"Vckf/kr 
f'k{kkFkhZ n`f"V ;k n`f"V ds lkFk ,d leL;k 
ls ihfM+r gksrs gSa ysfdu tc mUgsa lgh çf'k{k.k 
vkSj lk/kuksa ls lqfo/kk gksrh gS] rks os ,d vPNh 
lk{kjrk {kerk fodflr djrs gSaA

130.	 fodYi (2) mfpr gSA
O;k[;kµi<+us lh[kus ds fy, vko';d gS 
fd y{; Hkk"kk dh vFkZiw.kZ vkSj jkspd lkexzh 
lquus&i<+us dks feysA
eq[; fcUnqµ
(i)	 blls Nk=ksa dk ckSf¼d fodkl gksrk gSA
(ii)	� jkspd lkexzh feyus ds dkj.k Nk= 

ikB~; lkexzh dh rjQ vkdf"kZr gksrs gSaA
(iii)	� ifjdYiuk fodflr djus esa lgk;d gSA
i<+uk vFkok iBu Hkk"kk ds pkj dkS'kyksa esa ls 
,d gSA ;g ,d lkFkZd] mís';iw.kZ ,oe~ fparu 
ç/kku çfØ;k gS ftlesa Hkk"kk dh lajpuk dh 

le> rFkk i<+s tk jgs ikB ds lkFk fo|kFkhZ 
ds HkkoukRed laca/k }kjk vFkZ xzg.k ij cy 
fn;k tkrk gSA i<+uk lh[kus ds fy, vko';d 
gS rkfd y{; Hkk"kk dh vFkZiw.kZ vkSj jkspd 
lkexzh lquus&i<+us dks feysA iBu çfØ;k rHkh 
lkFkZd fl¼ gksrh gS tc ,d ikBdµ
n	,d fuf'pr mís'; dks /;ku esa j[krs gq, 

i<+rk gSA
n	ifBr oLrq ds vFkZ dks lnaHkkZuqlkj xzg.k 

djrs gq, i<+rk gSA
n	iBu ds nkSjku vkxs vkus okys rF;ksa dk 

vuqeku yxkrs gq, i<+rk gSA
n	tc O;fä Hkk"kk esa ikjaxr gks tkrk gS rc 

;g t:jh ugha fd l{ke ikBd çR;sd 
'kCn ij /;ku nsA 

131.	 fodYi (2) mfpr gSA
O;k[;kµHkk"kk dsoy vfHkO;fDr dk ek/;e 
gh ugha cfYd Lo;a ls ckrphr dk ek/;e gSA
Hkk"kkµ
(i)	� eq[; ls mPpkfjr gksus okys 'kCnksa vkSj 

okD;ksa vkfn dk lewg gh Hkk"kk gSA
(ii)	� Hkk"kk og lk/ku gS ftlds ek/;e ls 

ge lksprs gSa vkSj vius fopkjksa dks 
vfHkO;Dr djrs gSaA

(iii)	� LohV ds vuqlkjµß/oU;kRed 'kCnksa  
}kjk fopkjksa dks çdV djuk gh Hkk"kk gSAÞ

(iv)	 Hkk"kk ;kn`fPNd gksrh gSA
Hkk"kk ds çdkjµ
(i)	 ekSf[kd Hkk"kk
(ii)	 fyf[kr Hkk"kk
(iii)	 lkadsfrd Hkk"kk
fparu dk ek/;eµHkk"kk fopkjksa dk lzksr gSA 
fopkjksa ds fcuk Hkk"kk dk dksbZ vfLrRo ugha 
gS vkSj Hkk"kk ds fcuk fopkjks dh mRifÙk vkSj 
vfHkO;fä laHko ugha gSA bfly, Hkk"kk dsoy 
vfHkO;fä dk ek/;e gh ugha cfYd Lo;a ls 
ckrphr dk ek/;e gSA
KkuktZu dk ewy lzksrµHkk"kk ds }kjk u 
dsoy LFkwy txr ds fofo/k inkFkks± dk vfirq 
lw{e txr ds Hkh fofon Hkkoksa] fopkjksa vkSj 
vuqHkwfr;ks dk ukedj.k] mudh tkudkjh vkSj 
foekspu laHko gksrk gSA KkuktZu dk vk/kkj gksus 
ds dkj.k Hkk"kk] f'k{kk ds leLr fØ;kdykiksa 
dk vk/kkj gSA
laçs"k.k dk ek/;eµHkk"kk ds ek/;e ls gh 
fopkjks] Hkkoks] bPNkvksa rFkk vkdka{kkvks dks 
çdV fd;k tkrk gS rFkk nqljks }kjk O;ä 
Hkkoksa] fopkjksa vkSj fopkjksa }kjk bPNkvks dks 
xzg.k fd;k tkrk gSA bl çdkj oäk vkSj 
Jksrk ds chp ijLij laçs"k.k ds ek/;e ls 
vFkok fØ;k çfrfØ;k ds ek/;e ls ekuoh; 
fopkj&fofue; pyrs jgrs gSA
lkekftd var%fØ;k dk lk/kuµeuq"; ds 
lkekftd çk.kh gksus dk vk/kkj Hkk"kk gh gS 
D;ksfd Hkk"kk ds }kjk gh mlds lHkh lHkh 
lkekftd fØ;kdyki gksrs gSA
laLÏfr dk vk/kjµHkk"kk lh[kus dk vFkZ 
ml Hkk"kk dh laLÏfr lh[kuk Hkh gS D;ksafd 
Hkk"kk fdlh Hkh laLÏfr dk vfHkUu fgLlk gksrh 
gSA Hkk"kk vkSj laLÏfr esa xgjk laca/k gksrk gS 
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;k ;wa dgsa fd Hkk"kk fofo/krkiw.kZ laLÏfr dh 
ifjpk;d gksrh gSA Hkk"kk f'k{k.k ds }kjk cPps 
fofHkUu laLÏfr;ksa ds ewY;ksa] fopkjksa] ekU;rkvksa 
vkfn ls ifjfpr gks dj Hkk"kk rFkk laLÏfr nksuksa 
ds lanHkZ esa vPNh le> fodflr djrs gSaA
lkfgR; dk vk/kkjµHkk"kk ds }kjk lkfgR; dk 
l`tu dj euq"; Hkk"kk ds dykRed Lo:i 
dk mn~Hko djrk gSA lkfgR; ,d jpuk gS tks 
Hkk"kk ds }kjk gh laHko gSA

132.	 fodYi (2) mfpr gSA
O;k[;kµßyM+ds gksdj jksrs gksÞµ;g dFku 
Hkk"kk dks tsaMj dh n`f"V ls i<+us dks ck/; 
djrk gSA
eq[; fcUnqµ
(i)	� Hkk"kk dks tsaMj ds lkFk tksM+uk gekjs 

lekt ij udkjkRed çHkko Mkyrk gSA
(ii)	� vf/kd fp= Hkh ikB~; iqLrd esa 

yM+fd;ksa ds gksrs gSa tks ?kj ds dk;Z 
djrh gqbZ utj vkrh gSa vkSj yM+dk 
i<+rs gq, utj vkrk gSA ;g Hkh lekt 
ds fodkl esa ck/kk mRiUu djrs gSaA

fyax (gender) ,d lkekftd fuekZ.k gS 
tks lHkh lektksa esa yM+dksa vkSj yM+fd;ksa] 
iq#"kksa vkSj efgykvksa ds O;ogkj] Hkwfedk] 
ftEesnkfj;ksa vkSj O;ogkj Lo#i dks çHkkfor 
djrk gSA fyax&fo'ks"k dh 'kCnkoyh dk mi;ksx 
djrs le; ,d f'k{kd dks lko/kku jguk 
pkfg,A /;ku nsa fdµ
;g fodflr vkSj fodkl'khy lektksa esa 
laLÏfr;ksa ds lapkyu esa HksnHkko dk lcls 
LFkkfud :i jgk gSA
mnkgj.k ds fy,] ÞyM+ds gksdj jksrs gksßµ;g 
dFku Hkk"kk dks tsaMj dh n`f"V ls i<+us dks 
ck/; djrk gSA
d{kk esa Hkh] yM+fd;ksa us vDlj >kM+w yxkus 
vkSj lQkbZ ds dke dks nksgjk;k gS] ftlls Je 
ds fyax foHkktu dks c<+kok feyk gSA
,d rjg ls fyax Hksn dks xk;c fd;k tk 
ldrk gS] eku yhft, fd ^ps;jilZu* dk 
bLrseky ps;jeSu ;k ps;joweu ds LFkku ij 
fd;k tkuk pkfg,A
;g gekjs lekt ls fyax varj ds udkjkRed 
çHkko dks fy[kus esa enn djsxkA

133.	 fodYi (3) mfpr gSA
O;k[;kµdgkuh esa dFkkud dk gksuk 
vko';d gSA
dFkkudµ
(i)	 dgkuh esa ç;ksx dh xbZ dFkkoLrq dks 

dFkkud dgk tkrk gSA
(ii)	� ;g lkekftd] /kkfeZd] ,sfrgkfld] 

oSKkfud bR;kfn esa ls fdlh ,d fo"k; 
dks ysdj ?kVuk dk fodkl djrk gSA

(iii)	� blesa LokHkkfodrk ykus ds fy, ;FkkFkZ 
vkSj dYiuk dk feJ.k gksrk gSA

dgkuh fdlh lp ;k dkYifud ?kVuk ds ckjs 
esa crkrh gSA bls bl rjg ls crk;k tkrk gS fd 
Jksrk vuqHko djs vkSj dqN lh[ksA ;g fganh 
Hkk"kk f'k{k.k ls lEcfU/kr ,d çHkkoh midj.k 
gS blfy, bldk ç;ksx f'k{k.k dh ,d fof/k 
ds :i esa Hkh fd;k tkrk gSA

dgkuh esa dFkkud dk gksuk vko';d gksrk 
gS D;ksafd dFkkud ls rkRi;Z fdlh dgkuh 
dh i`"BHkwfe rFkk lkj ls gSA dgkuh esa 
mfpr dFkkud dgkuh dks ljy] lgt vkSj 
vkSfpR;iw.kZ cukrk gS rFkk ;gµ
n	cPpksa esa l`tukRedrk vkSj fparu'khyrk 

dks foLrkj nsrh gSA
n	cPpksa dh egRoiw.kZ lksp dkS'ky vkSj mudh 

varn`Zf"V dks c<+kok nsrh gSA
n	cPpksa esa ltxrk rFkk l`tu'khyrk c<+krs 

gq, mUgsa dkYifud nqfu;k dh lSj djkrh 
gSA

n	cPpksa dh #fp dks dgkuh esa cuk;s j[krk 
gS vkSj mudh rkfdZd {kerk dks lgh fn'kk 
nsrh gSA

134.	 fodYi (2) mfpr gSA
O;k[;kµ,d Hkk"kk ds v/;kid dks cPpksa 
esa fofHkUu lUnHkks± esa Hkk"kk ç;ksxksa dh {kerk 
fodflr djus ij cy nsuk pkfg,A
eq[; fcUnqµ
(i)	� ,d Hkk"kk ds v/;kid dks Hkk"kk ds 

ç;ksx ds fy, ,d ifjos'k dk fuekZ.k 
djuk pkfg,A

(ii)	� Nk=ksa dks Hkk"kk ds ç;ksx ds fy, çsfjr 
djuk pkfg, rFkk Hkkf"kd xfrfof/k;k¡ 
d{kk esa djokuh pkfg,A

(iii)	� dfork çfr;ksfxrk] Hkk"k.k çfr;ksfxrk 
bR;kfn djokuh pkfg,A

,d vPNk Hkk"kk f'k{kd og gksrk gS ftldh 
Hkk"kk esa çokg gksrk gS] og mRlkgh gksrk gS] vkSj 
dksbZ ,slk O;fä tks vPNh rjg ls vkSj fnypLi 
rjhds ls Hkk"kk dk Kku ns ldrk gSA og cPpksa 
ds Hkk"kk;h fodkl ds fy, fuEufyf[kr mik; 
dks viuk ldrk gS&
Hkk"kk ç;ksx ds fy, ifjos'k dk fuekZ.k djuk 
djuk pkfg,A
f'k{kd dks cPpksa ds Hkk"kk fodkl ds fy, 
fofo/k lanHkks± esa] tSls dfork ikB] dgkuh ikB] 
fuca/k ys[ku] Hkk"k.k çfr;ksfxrk] okn&fookn 
çfr;ksfxrk rFkk vU; ,sls dk;Z djus pkfg, 
ftlls fodkl ds fy, ifjos'k dk fuekZ.k 
gks ldsA
d{kk esa f'k{kd&f'k{kkFkhZ ds chp laokn gksuk 
pkfg, tks fd ikBî&iqLrd ds fyf[kr laoknksa 
dks thoar cuk ldrk gSA
og lh[kus ds ekgkSy dks futhÏr dj ldrk 
gSA
og Nk=ksa dks Hkk"kk ç;ksx esa Hkkx ysus ds fy, 
çsfjr djrk gSA
og mfpr f'k{k.k fof/k;ksa dk p;u djrk gS

135.	 fodYi (1) mfpr gSA
O;k[;kµßdksbZ Hkk"kk fdlh Hkh fyih esa fy[kh 
tk ldrh gSÞµ bl dFku ij esjh jk; gS fd 
;g dFku cgqr gn rd lEHko gSA fo'o dh 
lHkh Hkk"kk,¡ FkksM+s ls Qsj cny ls ,d gh fyfi 
esa fy[kh tk ldrh gSA
fyfi ls rkRi;Z fdlh Hkh Hkk"kk dks fy[kus ds 
<ax ls gS vFkkZr /ofu;ksa ds ys[ku ds fy, 
ç;ksx fd, tkus okys fpUgksa dks fyfi dgrs 

gSaA fyfi ls Hkk"kk dh lkfgfR;d lkaLÏfrd 
lEink dk laj{k.k gksrk gSA
fdlh Hkh Hkk"kk dks fdlh Hkh fyfi esa fy[kk 
tk ldrk gS D;ksafd fo'o dh lHkh Hkk"kk,¡ 
FkksM+s ls Qsjcny ls ,d gh fyfi esa fy[kh tk 
ldrh gSa vkSj blh rjg dksbZ ,d Hkk"kk dbZ 
fyfi;ksa esa fy[kh tk ldrh gSA
Hkk"kk vkSj fyfi ds lEcU/k dk vanktk bl ckr 
ls yxk;k tk ldrk gS fd fyfi ds vHkko esaµ
n	Hkk"kk mRiUu gksdj Hkh u"V gks tkrh gSA
n	Hkk"kk dk dksbZ fo'ks"k egRo ugha jg tkrk 

gSA
n	iBu dks xq.koÙkkiw.kZ ugha cuk;k tk ldrk 

gSA
n	Hkk"kk dh lw{erk vkSj fuf'prrk dk var 

gks tkrk gSA

136.	 fodYi (4) mfpr gSA
O;k[;kµyksx Lora=rk] lekurk vkSj fu.kZ; 
çfØ;k esa fgLlsnkjh ds fopkjksa ls çsfjr gksdj 
vktknh ds la?k"kZ esa 'kkfey gq,A
Hkkjr 15 vxlr 1947 dks vktkn gqvkA 
bl vktknh ds fy, iwjs ns'k dh turk us 
,d yEck vkSj eqf'dy la?k"kZ pyk;k FkkA 
bl la?k"kZ esa lekt ds cgqr lkjs rcdksa dh 
fgLlsnkjh FkhA rjg&rjg dh i`"BHkwfe ds yksxksa 
us blesa Hkkx fy;kA
LorU=rk & vktknh
lekurk & lHkh ds çfr leku O;ogkj dk Hkko
fu.kZ; çfØ;k esa fgLlsnkjh & vafre lq>ko ds 
fy, mles 'kkfey gksuk

137.	 fodYi (1) mfpr gSA
O;k[;kµvktknh ds fy, la?k"kZ ns'k dh 
turk us pyk;kA bl la?k"kZ esa lekt ds cgqr 
lkjs rcdksa dh fgLlsnkjh jgh FkhA rjg&rjg 
dh i`"BHkwfe ds yksxksa us blesa Hkkx fy;kA 
os Lora=rk] lekurk rFkk fu.kZ; çfØ;k esa 
fgLlsnkjh ds fopkjksa ls çsfjr FksA
Þbl vktknh ds fy, iwjs ns'k dh turk us 
,d yack vkSj eqf'dy la?k"kZ pyk;k FkkßA

138.	 fodYi (4) mfpr gSA
O;k[;kµlekurk] LorU=rk vkSj fopkjksa dh 
vfHkO;fDr rhuksa gh yksdrkaf=d O;oLFkk dk 
ewY; gSA
yksdrkaf=d O;oLFkkµ
(i)	 yksdrU= 'kklu dh ,d ç.kkyh gSA
(ii)	� pquko ds ek/;e ls turk vius çfrfuf/k 

dk p;u djrh gSA
yksdrkaf=d O;oLFkk dk ewY; *lekurk] 
Lora=rk vkSj fopkjksa dh vfHkO;fä* gSA
;s rhuksa xq.k yksdrkaf=d O;oLFkk esa lfEefyr 
gSaA

139.	 fodYi (1) mfpr gSA
O;k[;kµvkUnksyu dk ;g vlj gqvk fd 
ljdkj dh [kqydj vkykspuk gksus yxhA
vkSifuosf'kd 'kklu ds rgr yksx fczfV'k 
ljdkj ls Hk;Hkhr jgrs FksA os ljdkj ds 
cgqr lkjs QSlyksa ls vlger Fks ysfdu vxj 
os bu QSlyksa dh vkykspuk djrs rks mUgsa Hkkjh 
[krjksa dk lkeuk djuk iM+rk FkkA Lora=rk 
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vkUnksyu us ;g fLFkfr cny MkyhA jk"Vªoknh 
[kqysvke fczfV'k ljdkj dh vkykspuk djus 
yxs vkSj viuh ek¡x is'k djus yxsA

140.	 fodYi (1) mfpr gSA
O;k[;kµdkaxzsl dh ;gh ek¡x Fkh fd fo/
kkf;dk esa pqus gq, lnL; gksaA LorU=rk 
vkUnksyu us fLFkfr cny MkyhA jk"Vªoknh 
[kqysvke fczfV'k ljdkj dh vkykspuk djus 
yxs vkSj viuh ek¡x is'k djus yxsA 1885 
esa gh Hkkjrh; jk"Vªh; dkaxzsl us ek¡ dh fd fo/
kkf;dk esa fuokZfpr lnL; gksus pkfg, vkSj mUgsa 
ctV ij ppkZ djus ,oa ç'u iwNus dk vf/
kdkj feyuk pkfg,A

141.	 fodYi (4) mfpr gSA
O;k[;kµlcls lVhd@lkFkZd okD; gSµla?k"kZ 
euq"; dks lQyrk fnykrk gSA
mi;qZä fodYiksa esa ls lVhd vkSj lkFkZd okD; 
gSµßla?k"kZ euq"; dks lQyrk fnykrk gSßA

142.	 fodYi (2) mfpr gSA
O;k[;kµ^[kqysvke* 'kCn dk lcls lkFkZd 
ç;ksx gSµ[kqysvke cqjkb;k¡ gks jgh FkhaA
bl vuqPNsn esa ^[kqysvke* 'kCn dk ç;ksx 
jk"Vªokfn;ksa }kjk fd;k x;k gSA jk"Vªoknh 
[kqysvke fczfV'k ljdkj dh vkykspuk djus 
yxs vkSj viuh ek¡xs is'k djus yxsA 1885 
esa gh Hkkjrh; jk"Vªh; dkaxzsl us ek¡x dh fd 
fo/kkf;dk esa fuokZfpr lnL; gksus pkfg,A

143.	 fodYi (1) mfpr gSA

O;k[;kµ^ncko* 'kCn dk ç;ksx gok ds fy, 
fd;k gSA okD; cusxkµ gok dk ncko de 
gksx ;kA
x|ka'k esa ys[kd us crk;k gS fd 1909 esa cus 
xouZesaV vkWQ bafM;k ,DV us dqN gn rd 
fuokZfpr çfrfuf/kRo dh O;oLFkk dks eatwjh 
ns nhA gkykafd fczfV'k ljdkj ds vUrxZr 
cukbZ xbZ ;s 'kq:vkrh fo/kkf;dk,¡ jk"Vªokfn;ksa 
ds c<+rs tk jgs ncko ds dkj.k gh cuh FkhaA
^ncko* 'kCn dk lgh ç;ksx ^gok dk ncko 
de gks x;k* ij gksxkA

144.	 fodYi (4) mfpr gSA
O;k[;kµlaxrdkj ds ek/;e ls dfo ml oxZ 
dh vksj ladsr djuk pkgrk gS ftlds lg;ksx 
ds fcuk dksbZ Hkh O;fDr Å¡pkbz ds f'k[kj dks 
çkIr ugha dj ldrk gSA	

145.	 fodYi (2) mfpr gSA
O;k[;kµ^pêku* tSlk Hkkjh Loj ls vk'k; 
xEHkhj vkokt ls gSA laxrdkj dh vkokt dks 
detksj dk¡irh vkokt dgk x;k gS D;ksafd tc 
eq[; xk;d xhr xkrk gS rks mlds lkFk pêku 
ds leku dBksj Hkkjh /ofu ds lkFk dk¡irh gqbZ 
vkokt lgk;d xk;d dh gksrh gSA
;gk¡ ^pêku* tSlk Hkkjh Loj ls vk'k; ^xaHkhj 
vkokt* ls gSA vU; fodYi vuqfpr gSaA lgh 
fodYi ^xaHkhj vkokt* gSA
fo'ks"kµ
^xaHkhj* dk vFkZ ^Åaph] xgjk] vkSj Hkkjh* 
gksrk gSA
^vkokt* ds fons'kt 'kCn gS] ;g Qkjlh Hkk"kk 
dk 'kCn gSA

146.	 fodYi (1) mfpr gSA
O;k[;kµßxk;d vc varjs dh tfVy rkuksa 
ds taxy esa [kks pqdk gksrk gSÞ ds ek;us gSaµ 
varjs dks xkrs gq, og yhu gks tkrk gSA

147.	 fodYi (2) mfpr gSA
O;k[;kµ^vugn* 'kCn esa ^vu* milxZ gSA
milxZµ
(i)	� os okD;ka'k tks fdlh 'kCn ds çkjEHk esa 

tqM+dj mlds vFkZ esa ifjorZu dj nsrs 
gSa mUgsa milxZ dgrs gSaA

(ii)	 mnkgj.k ds fy, ç $ gkj = çgkjA

148.	 fodYi (4) mfpr gSA
O;k[;kµ^jk[k tSlk dqN fxjrk gqvk* dk 
vFkZ gS cq>rk gqvk LojA
^jk[k tSlk dqN fxjrk gqvk* dk vFkZ ^cq>rk 
gqvk Loj* gSA vU; fodYi vuqfpr gSaA vr% 
lgh fodYi ^cq>rk gqvk Loj* gSA
dkO;ka'k dh iafä esa crk;k x;k gSµvkokt 
ls jk[k tSlk dqN fxjrk gqvk ;kuh dh cq>rk 
gqvk lk LojA

149.	 fodYi (2) mfpr gSA
O;k[;kµ^laxrdkj* dk vFkZ gSµ xk;d ds 
lkFk xkus okykA laxrdkj eq[; xk;d dk 
NksVk HkkbZ ;k f'k"; gks ldrk gSA eq[; xk;d 
dh xEHkhj vkokt dk lkFk laxrdkj viuh 
detksj e/kqj vkokt ls nsrk gSA
^laxrdkj* dk vFkZ ^xk;d ds lkFk xkus 
okyk* gSA

150.	 fodYi (4) mfpr gSA
O;k[;kµ^<k¡<+l c¡/kkuk* dk vFkZ gSµ rlYyh 
nsukA


